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MODEL PAPER (MATHEMATICS) INTER (PART - Ii
(BISE BWP) SESSION (2023-25) AND ONWARD (OBJECTIVE)

—

| Time : 30 Minutes Marks : 20 Paper Code No. 8197 |

1

Note : Four possible choices A, B, C,D to each question are given. Which choice is correct fill that circle in |

front of that Question No on the Objective Bubble Sheet. Use Marker or Pen to fill the circles. Cutting or filling
two or more circles will result in Zero Mark in that Question.
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@ MODEL PAPER (MATHEMATICS) INTER (PART -l

(BISE BWP) SESSION (2023-25) AND Q ONWARD (SUBJECTIVE)
| Time : 2: 30 Hours | Marks : 80 ]

! Note: it is compulsory to attempt any (8 - 8) Parts each from Q.No. 2 and Q.No.3 while attempt any (3) Parts from
| Q.No.4. Attempt any (3) Questions from Part - |I. Write same Question No. and its Part No. as given in the Question Paper.

(Part-1) 25x2=50

QNo2: 1

Draw a graph of f(x) whose limit exists at x = a but J'(a) does not exist.

¥ 2.25
i, Evaluate lim =
x=5X ()’*.‘.f}

i osXx
i, Evaluate lim —=2%
x=+0

iv.  Differentiate sin®x w.r.t (x + 1)%.
v. Prove that&%(Bx) =3%n3.
vi.  Whatis the difference between dy and §y.

i e b o 2X
vii.  Prove that T‘an =
viii.  For what value of h, Tailors series becomes a Maclaurin series,

ix.  Define convex function with example.
x.  Explain vertical line test in your words.

xi.  What is the difference between feasible region and solution reglon with graphical example?
xil.  Graph the solution regionof x + y < 0

Q.No. 3

!
Evaluate j[y—%il—ldx i
i.  Evaluate j%dx

i Evaluate[foxdx
.  Fvaluate fex (cosx +sinx )dx

r x &
svaluate J———odx
v. Cvalua J. e | 1
vi [Find the area berween the x — axis and the curve y=4x - x
. dy
vii,  Solve the differential equation secx +tany;; =0
vil  Find an equation of the line having y —intercept=~7 andslope =-5.

ix. Find the angle between the lincs represented by x*+2xysecer+y*=0
Is (1,5) at a distance of 15 units from the origin?

xi. find an equation of a line through (- 8, 5) having siope undefiped.
Xii. ¢ind the distance of the point P(6, — 1) from the
Q.No. 4

i How can you find the slope of a line given two points on the line?

i The points (=5, —2) & (5,—4) are ends of a diameter of a circle . Find the radius
and centre of the circle.

i, How can you define the altitude of triangle

iv ind an equation of line having® - intercep® =9 and slopes—4
v How can define angle between two parallel lines
: . e 3
vi.  Findthe measure of angle: x2 + 2xyseca+y* = |
vi.  Find the distance and mid point of A(3,1) & B(-2,-4) . |
vii.  Find the equation of the circle whose ends of a diameter are at A(—3,2) and B(5, —6)
ix. Make a systematic diagram if P{x,y)beany point on thecircle with centre at origin
andinc!nation @ »
X Write the general formof equation of circle.Givean eaxample.
i Find an equation of tangent tocircle x® + y* = 25at (4,3) and make a sketch.

xil Prove that normal lines of a circle passes through the centre of the circle .

3
xiii, Find eq. of ellipse if vertices (0, £5), ecentricty = 3 P.T.O




(Part-11) 3x10=30

Q.No.5

Q.No.6

QNo.7

Q.No.8

Q.Nc.S
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(&)

(a)

(b)

(a)

()

(2)

(b)

(a)

(b

b= 26,

) 2x+1 j
" vp el . ! [
If f(x) = x> 1. Then verify that / \f (A\‘]]'—“f l(f(*)):v‘ &)
= 00 8 and y= bsin® 6, show that a% +htanf =0 (3)
¢
Show that y = e has maximum value at x = ¢ (5}
: 5
Evaluate J“——‘—t@'——-dx )
sinx +Ccosx )
& secH
Evaiuvate [ — dé
¢ sin@+cosd ®

Graph the feasible region of the following system of linear inequalities. Also find
corner points,

x4 3y 818,

2x+y %10,

x+dv &€,

xz0,

yzo (3)
Write an equation of the circle passing through the points
A(4,5), B(~4,-3), C(8,-3)

(s)
In any:ﬁ ABC , prove that

a b .
Sind  SinB  SinC (5)

A
Find the equation of the tangents to the ellipse iﬁ.yl:_- I which are parallel to

the line 21’—4}'4—5:0 {s}

Find the length of the chord cur off from the line 2x+3y =13 by the circle

©)
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BISE Gujranwala "
Model Paper

Subject: Computer Science Inter Part-11 Annual 2024
Time = 20 Minutes Marks = 15

OBJECTIVE

Q#1: Choose one of the multiple options that is correct.

(MS-ACCESS)

iv.

Which of the following model is more flexible:
a) Network data model b) Hierarchical data model
¢) Relational data model d) Object data model

. A table must have

a) Primary key b) Secondary key

¢) Composite key d) Sort key

In ERD model, the relationship between two entities is represented by a(n):
a) Diamond symbol b) Rectangular box

¢) Oval symbol d) Line

In 3NT, a non-key attribute must not depend on a(n):

a) non-key attribute b) key attribute

¢) composite key d) sort key

Which of the following object of database is used to retrieve data from database?
a) Queries b) Forms

) Reports d) Tables

o find four character name starts with H, the criteria is specified as:
a) H*4 b) H?4

c) H??7?? d) H#R

(C-LANGUAGE)

vii. .exe file is produced by:

a) Compiler b) Interpreter
¢) Linker d) Loader
viii. a += b is equivalent to:
a)b+=a b)a=+b
c)a=a+b d)b=b+b
ix. The valid equivalent C statement of area = mr’:
a)nxr b) n*r?
cJm*rA2 dyn*r*r
x.  Which of the following in NOT a control structure?
a) Sequence b) Selection

¢) Repetition d) Database




xi. In which loop, semicolon(;) must be placed at end of its syntax?

a) for loop b) while loop
¢) do-while loop d) for-each
xii. Memory is allocated to a local variable at the time of its:
a) declaration b) destruction
¢) definition d) first reference

xiii. Which of the following is true about a function call?
a) Stops the execution of the program
b) Transfer control to the called function
¢) Transfer control to the main function
d) Resumes the execution of the program

xiv. On successfully closing a file, the fclose() returns:

a) NULL b) 0 (zero)
c) 1 (one) d) FILE pointer
xv. Which of the following mode open only an existing file for both reading and writing?
a) “w” b) “w+”
o) s d) “a+”
(VISUAL BASIC)
vii. Identify invalid variable name?
a) _num b) Int
¢) 01_num d) num_01
viii. a <> b is equivalent to:
a)a>b b)a<b
c) NOT(a=b) dja<b ANDa>b
ix. The valid equivalent VB statement of area = nr’:
a)nxr b)3.14*
m*ra2 d)3.14*r*r
x. All of the followings are examples of controls EXCEPT:
a) Label b) Button
¢) TextBox d) Caption

xi. In which loop body run at least once?
a) FOR .. NEXT b) WHILE .. WEND
¢) DO .. LOOP .. WHILE  d) DO .. UNTIL .. LOOP

xii. Which of the following function is used to convert numeric value into string:
a) Val b) IntToStr
c) Str d) String

xiii. Which of the following is true about a function call?
a) Stops the execution of the program
b) Transfer control to the called function
¢) Transfer control to the main function
d) Resumes the execution of the program



xiv. Which event is not related to Label control?

a) Click b) Load
¢) DbIClick d) Change
xv. The Stretch property is related to control:
a) Picture b) Image
c) Form d) Button
SUBJECTIVE
Section-I
MS-ACCESS

2. Write short answers to any SIX (6) questions:
i. Differentiate between data and information.

ii. Define Primary Key.

iti. What is Cardinality?

iv. Describe functional dependency.

v. Identify candidate keys and select primary key for relation:

vi. What is redundancy?

vii. Write any two data types in MS Access.

viii. Deline wildcards.

ix. What is the difference between list box and combo box.

(C-LANGUAGE)

3. Write short answers to any SIX (6) questions:

i. What is an object code?

ii. Name two pre-processor directives.

iii. How does a variable declare? Give an example
iv. What is an arithmetic underflow?

v. Differentiate between unary and binary operators.

vi. Re-write the following code by using conditional operator:

if(x>5)
y=3;
else
=4

vii. Find any two errors:
int x;
scanf(“%d”, x);
if (x%2=0)
printf(“Pakistan”),

viii. Trace the output:
int num=10;
num *=5;
printf(“%d”, num);

ix. Find the output of the following code segment:
intx=3,vy,z;
y=x=10;
z=x<10;
printf ("x=%d y=%d z=%d", Xx,y,2);

(12)

EMPLOYEE( ID, NAME, CNIC)

(12)




OR

(VISUAL BASIC)
3. Write short answers to any SIX (6) questions:
i. What is object code?
ii. Define algorithm
iii. How a variable is declared in VB ? Give an example
iv. What is arithmetic underflow?
v. Differentiate between unary and binary operators
vi. What is integrated development environment?
vii. Find any two errors

Public Sub Message_Click( )

printf “Welcome to Islamabad”

End Subroutine
viii. Define properties window in VB.
ix. Write down the general syntax of InputBox() function.

(C-LANGUAGE)
4. Write short answers to any SIX (6) questions:
i. Define Format specifier.
it. List the names of two functions used for character input.
iii. What is logical AND operator?
iv. Find any two errors:
intx=2.5:
switch(x){
case X < 5t
case 2.5:

}

v. Predict the output:
for (i=1 ; i<= 20 ; i+=2)
printf(“%d”, i);

vi. Give an example such that where you prefer to use do-while loop not while loop?
vii. Re-write the following code by using do-while loop
for(i=10 ; i>=0 ; i-=2)
printf(“Pakistan Zindabad”);

viii. Write down a function header statement, that accepts one integer and other decimal point value.
ix. How to declare a pointer variable?
OR

(VISUAL BASIC)
4. Write short answers to any SIX (6) questions:
i.  What are control statements?
ii. Draw the flowchart of if-then statements
iii. How a select case help vou in coding?
iv. Predict the output:

For X=0 to 20 Step 4

print X
Next

L\




v.  Write is the output of the following code segment:
Dim Marks As Integer = 30
If Marks > 40 Then
MsgBox “Pass”
Else
MsgBox “Fail”
End If

vi. Find any two errors:
Dim N As Integer = 1
While N <=5 Do

Print “Hello Friend”
N++
Wend

vii. Re-write the following code by using do-until-loop
Dim N As Integer
For N =1 To 10 Step 2
Print “Pakistan Zindabad”
Next

viii. What is infinite loop?
ix. Differentiate between DO..LOOP..WHILE and DO..UNTIL loop ?

Section-11
(MS-ACCESS)
Note: Attempt any ONE (1) question.
7. Define ER-Diagram. Explain ER-Diagram with the help of an example. (8)
8. Discuss different types of queries in database. (8)

Section-111
(C-LANGUAGE)
Note: Attempt any TWO (2) questions.
7. Write a C-Language program that input ages of three persons and display who is youngest? (8)

8. Write a C-Language program which prints the following pattern by using loop: (8)
1
3 5
5 7 9
7 9 11 13
9. llow is a function call made in a C-Program ? Discuss with an example (8)
OR

(VISUAL BASIC)
Note: Attempt any TWO (2) questions.
7. Write a Visual Basic program that input ages of three persons and display who is youngest? (8)

8. Write a Visual Basic program which prints the following pattern by using loop: (8)
1
3 5
5 7 9

7 9 11 13
9. How is a function call made in a C-Program ? Discuss with an example (8)




Paper Code i 2024
Nuzmber: INTERMEDIATE PART-II (12" Class) Roll No:
PHYSICS - PAPER-II MODEL PAPER

TIME ALLOWED: 20 Minutes

OBJECTIVE

MAXIMUM MARKS: 17 J‘

| Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think is
| correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the |

I bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
S.# QUESTIONS A B 5 D
I | If a charged particle + "¢" of mass "m" is Zero qE/m qEm migk
| projected parallel in an electric field E, the
acceleration: "
| |
2 | The electric flux through a closed surface Geometry of Charge The medium | BothB& C
Ty g
enclosing charge +q at its centre depends upon: the surface enclosed by in which |
the surface charge is
placed
3 | If no fourth band is present on a carbon resistor, + 5% +10% +20% 0%
the tolerence will: |
4 |InCROto Eigplay the given voltage is connect X-plates Y-plates Cathode Anode |
to: |
5 ] The galvanometer consist of a moving coil BAN/C | BN/CA NAC/B C/BAN i
| galvanometer given by: ' '
| —— —
6 | The direction of induced current is determined Ohm law | Faraday’s Lenz’s law | Gauss’s law
by: |[ law |
7 | For A.C inductor behaves like: Capacitor ] Thermistor Rectifier Resister |
8 | The phase angle between \;I)Elgc and current 0 degree 45 degree 90 dn;grcc | 180 degree
i through resistor in A.C circuit is:
1 - p— II
9 | Metal detector consist of: L-C circuit R-C circuit R-L circuit RLC-circuit
|
10 | High temperature super conductor have a critical 52K 77K 1 125K | 163K
| temperature greater than: ' f
_ : | | _
11 | In operational amplifier as a comparator when Vo =+Vce Vo=-Vee | Vo=0 Vo = infinity
| V=>V + then at the output, we get: '
i
12 | The S.I unit of current gain are: Ampere Gray Ohm No unit
!
13 | The reverse process of photoelectric effect is: Compton’s Pair Black body X-rays —!
effect production radiation _'
14 | Which photon of light has least energy? Green Yellow Blue Red
15 | The shortest wavelength in bracket series has 364 nm 1457 nm 1876 nm infinity
i a wavelength:
16 . Co-60. radioactive isotope is the source of: Alpha-rays Beta-rays | Gamma rays | Neutrons
17 | The biological effects of radiation are of: Two types Four types Six types Ten tvpes




{\-iﬂ Cana particle and anlipa_rmé exist together? If they meet what hapﬁén?

INTERMEDIATE PART-II (12" Class) l 2024 ' Roll No:
PHYSICS PAPER-II MODEL PAPER
TIME ALLOWED: 2.40 Hours ’ SUBJECTIVE | MAXIMUM MARKS: 68
NOTE: Write same question number and its parts number on answer book, as given in the question paper.
SECTION-I _ ]
2. Attempi: .y eight parts. _ §x2=16 |
() | How you can identify that which plate of Lapacuor is positively charged?
. (i) | How many joules in an electron volt? )
(i) | Write two similarities between electric force and gravitational force? 1
(iv) | Define potential gradient. Write its S.1 unit. '
(v) | Why does the picture on a T.V screen become distorted when a magnet is brought near the screen?
(vi) | When charged particle is projected perpendicular to the magnetic field. How many joules work is done by
magnetic force on the charged particle? |
(vii) |Does a uniform magnetic field affect the K.E of an electron projected perpendicular the uniform magnetic field?
' | Explain. N
| (viii) | If the resistance of Ammeter is high can it measure the accurate value of current? Explain.
ix) | Write down the fission reaction of 235U in which fission fragments produced other than krypton and barium.
(x) | Which factor make a fusion reaction difficult achieve? )
(xi) | What fraction of radioactive decays after four half life elapsed? __
(xi1) | Describe two methods by which an alpha particle does ionize an atom.
3. Attempt any eight parts. 8§x2=16 !
| (i) | Do bends in a wire affect its electrical resistance? Explain. _ :
(i) | How you will compare the emf’s of the two cells by using potentiometer? |
(i) | Two resistances each of 20 are connected in parallel with the source of emf of 10v. What amount of current will
be supplied each resistance by the source of emf? ‘
' (iv) | Which is better device to limit the current choke and Rheostat why it better? J
(v) | The peak value of alternating voltage is 220V. What is its peak to peak to peak value? __J
(vi) | Compare the frequency behaviour in a Resister and capacitor in a A.C Circuit. ]
| (vii) | Write doping. What is proportion of impurity in the doping process? ]
(viii) | Suppose we have the substance which became super conductor at 42K, 125K and 163 K. Which is :
| comparatively more useful?
(1\;) [ Show that the S.I unit of modules of elasticity and stress are same. :
~(x) | Whatis 0pc1atmnal amplifier? Why it is so called?
(xi) [ Ifp=100, 1=10mA, then find the value of then find the value of 1, in microampere? -
. (xii) | Why we cannot use Silicon for making LED’s? il
4. Attempt any six parts. 6x2=12
(i) | Does the induced emf act to decrease the magnetic flux through a circuit? Explam j
(i) Write two similarities between motor and generator.
(ii1) | Why split rings used in D.C gencrator instead of slip rings? -
| (iv) | On what basis the Self induced is called “back emf”?
(v) | We do not observe a Compton effect with visible light. Why? ll

[ (viD)

Show that h/moc has dimension oflengt_l:u_.

(vii1) | What 1s the difference between spontaneous and stimulated emission? |
| p— - -~
(ix) " Why does electron exist outside nucleus but not inside the nucleus?
T - SECTION-II ]
| NOTE: Attempt any three questions. 3 x8=24
5.(a) | State Columba’s law. Derive a mathematica relation which shows Columba’s force obey '
Newton's Third law of motion. 05 :
(b) | A rectangular bar of iron is 4cm by Acm in cross section and 60cm long. Calculate its resistance if the ]
resistivity of iron is 11x 10 * (ohmmeter) 03 .
| 6.(a) | What is transformer? W’ri_te its principle and qb_ristruction. Derive an expression for Vsz=N5r’Np."__OSH—!
. (b) | A power line 15m high carries a current of 300A. Find the magnetic field of the wire at the ground. 03
7.(a) | What is inverting operational amplifier? Derive the mathematical expression for closed loop gain of the i
amplifier. - 05
(b) | Find the value of the current and the Would Inductive Reactance when A.C voltage of 110V
‘ at 60 Hz is passed through an inductor of 10H. 03 ;
8.(a) | What are black body radiations? Discuss the experimental results intensity distribution diagram ]
[ of lummer and pringsheion. 05
| (b) [ A 2cm long copper wire is subjected to stretching force and its length increases by 20cm. 03
[ 9.(a) | What is nuclear fusion? Why this reaction has not been brought under control?
How sun is issuing tremendous amount if energy? 05
(b) | Find the kinetic energy of electron in first Bohr’s orbit. 03 |




CHEMISTRY

NOTE: You have four choices for each objective type question as A, B, C and D. The choice which
you think is correct, fill that circle in front of that question number. Use marker or pen to fill
the Circle. Cutting or filling two or more circles will result in zero mark in that question.

Model Paper 12" Class - 2024

The elements in periodic table are classified into blocks:

(A) 1 (B) 2
(C) 4 (D) 3
ii.  Choose the correct electronic configuration of Ca:
(A) [Ar] 25° (B) [Ar] 4s®
(C) [Ne] 3s’ (D) [Ne] 4s®
iii.  Tincal is a mineral of:
(A) Aluminium (B) Magnesium
(C) Boron (D) Carbon
iv.  The catalyst used in contact process is:
(A) Fe,03 (B) V205
(C) Ag.0 (D) SO;
v. The Hydrogen bonding is strongest in following
(A) HF (B) HBr
(C) HCI (D) HI
vi.  The total transition elements are:
(A) 10 (B) 14
(C) 20 (D) 58
vii.  One of the following is a typical transition element:
(A) Co (B) Sc
Q)Y (D) Ra
viii.  Linear shape is associated with which of the following hybrid orbital:
(A) sp (8) sp”
(C) sp’ (D) dsp?
ix.  Formula of trichloromethane is:
(A) CH5CI (B) CH,Cl,
(C) CHCl3 (D) CCl,
x. The conversion of n-Hexane into benzene is called as:
(A) Aromatization (B) Dealkylation
(C) Rearrangement (D) Isomerization
xi. When CO;is made to react with ethyl magnesium bromide followed by acid hydrolysis
the product formed is:
(A) Acetic acid (B) Formic acid
(C) Propanoic acid (D) Mathanol
xii. Ethanal can be converted into ethanoic acid by:
(A) Hydrogenation (B) Oxidation
(C) Hydration (D) Fermentation
xiii. The hybridization of oxygen atom in carbonyl group is:
(A) sp (8) sp’
(C) sp’ (D) dsp’
xiv. Choose one of the synthetic polymers from the following:
(A) Starch (B) Animal fat
(C) Cellulose (D) Polyester
xv. Which of the following element is not present in all proteins:
(A)S (B) N
(C) C (D) H
xvi. Newspapers can be recycled again and again by how many times:
(A) 2 (B)5
(C)4 (D)3
xvii. Which of the following is not 4 calcareous material:
(A) Lime (B) Clay

(C) Marble (D) Marine shell

(%
|

TIME: 20 MINU/ES
OBJECTIVE MARKS: 17




Model Paper 12" CLASS —2024

CHEMISTRY SUBJECTIVE TIME: 2 HRS 40 MINUTES
SECTION-I MARKS: 68
2. Write short answers to any EIGIIT questions. (2x8=16)

1. Why noble gases have usually zero oxidation?

1. Write down any four uses of Aluminum.

iii.  What is white lead 7

iv. What is iodized salt?

v. What are freons and Teflon?

vi. Explain the variation in melting and boiling points in short periods?
vil. Differentiate between Thermoplastic and Thermosetting plastic.
viil. Draw the structure of glucose.

ix. Write down any two properties of lipids.

x. How detergents are affecting the marine life.

xi. What are lcachates?

xil. How are Chloroflourocarbons destroying ozone layer?

3. Write short answers to any EIGHT questions. 2x8=16)
1. Differentiate between alicyclic and acyclic compounds.
11.  Draw the various isomers of C4H g
iii.  Convert Methane into Nitromethane.
iv.  State Markownikoff Rule with an example.
v.  Write down any four uses of Ethyne.
vi.  How NOs is act as oxidizing agent.
vii.  How Aqua Regia dissolved gold?
viii. How does nitrogen differ from other members of its group?
ix. How ethyl chloride converted into n-butane by Wurtz Synthesis.
x.  Define nucleophilic substitution reaction.
xi.  Write down any two essential qualities of good fertilizer.
xii.  Mention the role of Phosphorous in the growth of plants.

4. Write short answers to any SIX questions. (2x6=12)
i.  What is central metal ion?
1. Give systematic name of (i) K>[PtClg] (ii) [Pt(OH)2(NH3)4]SO4
iii.  How will you distinguish methanol and ethanol?
iv.  What is Dow’s method
v.  Draw the structural formulas of (i) Carbolic Acid (ii) Cyclohexanol.
vi.  What is sodium nitroprusside test?
vii. What is formalin?
viii. Briefly describe the acidic and basic character of amino acids.
ix. What are fatty acids. Give two examples.

(SECTION - 1I)

Note: Attempt any three from the following. (8x3=24)
a. (A)Define electron affinity. Discuss its trend in periodic table.
(3)Discuss any two methods of preparation of borax?
0. (A)Write down any four dissimilarities of oxygen and Sulphur.
(B) Define smog. Write down its conditions of formation.
7. (A)Explain Cis ~Trans isomerism in detail.
(B)Explain unimolecular nucleophilic substitution reaction.
8. (A)Write a note on Atomic orbital treatment of Benzene.
(B) How cthanol is prepared by molasses.
9. (A)Write any four methods of preparation of alkanes.

(B)Define Aldol Condensation with Mechanism.

Model Paper 12th Class - 2024
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BIOLOGY (OBJECTIVE TYPE) Time Allowed : 20 Minutes
PAPER - 11 Maximum Marks : 17
Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

MODEL PAPER (INTER PART-II)

fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

1-1

Which of the following is not an endothermic animal :

(A) Bird (B) Amphibian (C) Flying insect (D) Mammal
2 | An example of unpaired bone is :
(A) Mandible (B) Zygomatic (C) Palatine (D) Lacrimal
3 Which represents smooth muscles correctly :
(A) Unstriped, Branched, Cylindrical
(B) Unstriped, one nucleus per cell, spindle shaped
(C) Unstriped, one nucleus per cell, voluntary
(D) Trregular stripes, slow speed of contraction, spindle shaped
4 | The part of brain that controls breathing, heart rate and blood pressure is :
(A) Midbrain (B) Pons (C) Medulla (D) Cerebellum
5 | Which in your opinion is not a pyrimidine :
(A) Thymine (B) Cytosine (C) Adenine (D) Uracil
6 | The number of chromosomes in mosquito and corn is :
(A) 6&20 (B) 6 pairs & 20 pairs (C) 26 & 80 (D) 13 pairs & 20
7 | The form of appearance of a trait is called :
(A) Genotype (B) Phenotype (C) Pleiotropy (D) Sex limited trait
8 | In chick embryo the folding of neural plate is clearly visible at --- stage :
(A) 18 hours (B) 25 hours (C) 24 hours (D) 22 hours
9 Which respiratory protein is of common presence in all aerobic organisms :
(A) Cytochrome-b  (B) Hemoglobin (C) Cytochrome-c (D) Myoglobin
10 | The Essay on Principle of Population was written by :
(A) Malthus (B) Cuvier (C) Darwin (D) Wallace
11 | Whose paper, along with extracts from Darwin’s unpublished 1844 essay, were presented to
Linnaean society of London :
(A) Wallace ( 1913-23) (B) George Cuvier (1769-1832)
(C) Malthus (1766-1834) (D) Charles Lyell (1797-1875)
12 | What in your opinion is an example of biotic factor :
(A) Air (B) Water (C) Soil (D) Plant
13 | One of the following is a macronutrient :
(A) Iron (B) lodine (C) Molybdenum (D) Phosphorus
14 | Homo sapiens have been on the earth for about --- years :
(A) 10,000 (B) 20,000 (C) 40.000 (D) 60,000
15 | What apparatus would you suggest for ‘PCR’ to be carried out in :
(A) Spectrometer (B) Centrifuge (C) Homogenizer (D) Thermocycler
16 | A lake is divided into how many zones :
(A) Two (B) Three (C) Four (D) Five
17 | As panting is to dogs, application of urine and saliva is to :
(A) Humans (B) Birds (C) Bats (D) Frogs
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BIOLOGY

MODEL PAPER (INTER PART-I)
(ESSAY TYPE)

SECTION -1

2. Write short answers to any EIGHT (8) questions :

(i)

(i1)
(iii)
(iv)

(v)
(vi)

(vii)
(viii)
(ix)

(x)

(xi)
(xi1)

Differentiate shivering and non-shivering thermogenesis.
What is hyperoxaluria? Give its causes.

Why dialysis is done?

How tetanus is different from tetany?

Give two adaptations of flight in birds.

Trace the path of urine from kidney to outside the body.
How turgor pressure is produced? Give its importance.
Predict the role of epinasty and hyponasty.

Differentiate hydrophytes and xerophytes.

What could you invent to boost uptake of dopamine?

Write the natural mechanism by which plants protect themselves from high temperature.

What information would you use to assess renal failure?

3. Write short answers to any EIGHT (8) questions :

(1)

(i1)
(111)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)
(x)
(xi)

(xit)

What is your opinion about arthritis?

Define rickets. Write its cause and cure.

Differentiate identical twins and fraternal twins.

Rank the importance of homoeostasis for living organisms.

Write the characteristics of collenchyma cells.

What would happen if palatine processes of maxilla and palatine fail to fuse?
How would you grade uricotely as evolutionary adaptation?

What is cartilage? Write its types.

Write the commercial applications of Cytokinins.

Write any two functions of callus.

How kidney is different from excretory structures of ancestors of vertebrates?
What is synapse? Write its role.

4. Write short answers to any SIX (6) questions :

(1)
(ii)

(iii)
(iv)
(v)
(vi)
(vii)
(viii)

(ix)

Note :

5.

(a)
(b)

(@)
(b)
(a)
(b)

(a)
(b)

(@)
(b)

How would you portray the effects of auxins on root and shoot regarding their movement?

Write the name of any three types of kidney stones and their occurrence percentage.
Differentiate Etiolation and Chlorosis.
What are sertoli cells? Mention their functions.
How would you compare Osmoregulation with Thermoregulation?
Determine the value of Anhydrobiosis.
What is commercial application of gibberellins?
Define pyrexia. Write its causes.
How would you develop the environment in which cell maintains its shape?
SECTION - 11
Attempt any THREE questions.
Categorize various types of joints as per their structure and function.
How can you sort the bones of forelimb and hind limb in distal sequence?

How would you compile the facts for human female reproductive system?
Explain osmoregulation in cartilaginous fishes and bony fishes in marine environment.

Give an account of human urinary system.
Describe the events of birth in detail.

Describe different types of parthenogenesis.
How the structure of skeletal muscle fibre relates with its features?

How would you assess the disorders of thyroid gland?
Write down role of phytochromes in detail.

A%

7z
<

Time Allowed : 2.40 hours
PAPER - 11 Maximum Marks : 68
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Objective

Q.1 Each question has four possible answers, tick ( v ) the correct answer.

i | Insingle entry system , the final accounts are prepared by means of statement of affairs
A } Correctly ' B { Effectively ] C { Wrongly ‘ ILI Approximately
i | How many methods are available to calculate the profit or loss under single entry system I
A | One | B | Two | C ] Three | D | Four
i If the ending capital is Rs. 55000; opening capital Rs. 56375; loss made during the years. 1375, |
then the amount of drawings will be,
Al Rs110000 [B] Rs275%0 [c] Nil | D[ Rs.112750
iv_| Receipts and payment account is a summary of |
A | Cashbook [ B [ PurchasesBook | C|  Salesbook | D | Retumbook |
v | The amount received by the concern as per the will of donor is known as
A I Legacy B l Donation ] ) [ Expense l D ‘ SuBscﬁptioﬁ__
vi Donation Rs. 9000, 4/5™ capitalized, the amount should be credited to income and expenditure |
account is |
A|l Rs1800  [B] Rs7200 [C[ Rs9000 [D]  Rs900
vii | Parties involved in consignment _
A | Two B | Three | C] Four D] Five
viii | In sale, the risk and damages attached to goods sold are transferred to
A Seller B Buyer C Consignor D Consignee
ix | Account sale is submitted by o ]
A [ Consignor l B ] Consignee ] C l Debtor l D | Creditor
x | The decrease in the value of mines, quarries ete. is term as
A [ Depreciation ] B | Amortization [ B | Depletion ‘ D | None of these
xi | Scape value is also known as
A | Residualvalue | B | Breakupvalue | C| Salvagevalue [ D | Allof these )
ii Suppose cost of asset is Rs, 1000 and deprecaiotn rate is 10% p.a. then the book value of asset
after two years under reducing balance method will be
A | Rs.1000 [ B ] Ks.810 [ C] Rs.900 [ D] Rs.729
xiii | The liability of a member in a company is generally
A Current B Contingent | C Limited D | Unlimited
I
xiv | If a share of Rs. 100 is issued at Rs, 90 the it is to be issue at |
A ] 5%discount | B | 5%premium [ C[ 10%discount | D | 10% premium |
xv | Debenture includes ]
' | . | Participati
. ! cipation term
A | Debenturestock | B i Bonds l C ettt D All of these |
xvi | Debenture holders are known as .
A | Owners | B | Creditors | C ] Members | D | None of these
xvii | Current accounts of the partners should be opened when the capitals are
A | Fluctuating [ B | Fixed [ C] Variable | D | None of these
xviii | How many methods are there to calculate goodwill
A | One [ B | Two [ C | Three [ D] Four
s Suppose A,B &C are partners, sharing profits in the ratio of 2;2;1 respectively. What will be the new
XX | ration if C retires in the absence of agreement? |
A ] 2:2 [ B ] 2:1 [C] 2:3 [D] 12
xx | The end or termination of partnership is called B
Al Admission [ B ] Retirement | C ]| Death | D] Dissolution




Q.5

Q.6

Q.7

Q8

Q.9

(20)

Following is the receipt and payments of the student welfare society. Prepare its income
and expenditure account and balance sheet as on 31 December 2017,

Receipts Amount | Payments Amount |

Balance 800 Salaries 300

Subscription: Stationary 300

2016 50 Rent 300

2017 1000 Telephone expense 100

2018 | 200 Sundry expense | 150

Admission fees 400 4% Govt. Securities 01- 1000

Dividend on investment 200 07-2017 500

| Closing balance
2,650 | 2,650

Additional information:
i. Subscription in arrear Rs. 90 at the beginning and Rs. 200 at the end of the year.
il. Stock of stationery at the beginnings Rs.200 and Rs. 100 at the end of the year.

iii. The rates were paid for fifteen month up to 31* March 2018.

iv. Sundry expenses outstanding at 31* December 2017 Rs. 50.

v. The telephone expenses for 3 month are outstanding Rs. 40.

Vi. At 31 December 2016 the socicty owned building 10,000 and investment Rs.4,000.
vil.  Depreciation of building (@ 5% p.a

(20)

On 1st March 2015 sultan traders of Layyah sent 1,000 T-shirts to Uzair garments of Rahim Yar
Khan on consignment basis. Each shirt costing Rs. 500. Sultan paid for freight Rs. 1,000 and
insurance Rs. 2000. On 31st December 2015 Uzair garments forwarded on account sale showing
that 500 shirts were sold @ Rs. 560 each while 300 shirts were sold @550 each and remaining
were sold @ Rs.540 each. The expenses incurred by Uzair garments were for carriage Rs. 500 and
gadown rent Rs. 3500. As per agreement, Uzair garments was entitled to commission (@ 5% on
gross sales proceed. A cheque for balance due was also enclosed with the account sales.

Required: Prepare journal entries and prepare necessary ledgers in the books of consignor.

(20)
Muneeb and Co Ltd was formed with authorized capital of Rs. 6000000 divided into 60,000
ordinary shares of Rs. 100 each. On Ist April 2017 the company issued 45,000 shares @ Rs.100
each at 10@ premium to public for subscription. On 30th April 2017 company issued 5000
ordinary shares @ Rs. 100 each at 5% premium to the directors for cash. On 30th April 2017 the
applications for 35,000 shares were received and 1st May.
Required: Pass necessary journal entries and balance sheet of the company.

z2m

On 1st January 2015 a firm purchased machinery costing Rs. 25,000. On 1st July 2003 it buys
additional machinery worth Rs. 5000 and spend Rs. 500 on its erection. The accounts are closed
each year on 31st December. Rate of depreciation is charged 10% p.a.

Show machinery account for Five years under fixed installment method.

(20)

On 1% January 2022 Asad and Bilal enter into partnership contributing Rs. 400,000 and Rs.
300,000 respectively and sharing profits in the ratio of 3:2 . Bilal is to be allowed a salary of Rs.
10,000 per year. Interest on capital is to be allowed at 10% per annum , 5% interest is 1 be
charged on drawings . During the vear , Asad withdrew Rs. 12000 and Bilal withdrew Rs.20000.
Profit for the year was Rs. 96000,

Show profit distribution and also show capital accounts If their capitals are fixed.

“Good Luck”




MODEL PAPER INTER PART-1I
Business Statistics (Objective Type)

lime: Marks: 10

Note: Four possible answers A,B,C and D to each question are given. The choice which you think
is correct, fill that circle in front of that question with pen or marker in the answer book. Cutting
or filling two or more circles will result in zero mark in that question.

1. To find out the size of shoes, the best average is:

(a) W. Mean (b) Mean (c) Mode (d) Geometric Mean
2. :L x 100 is equal to:

(a) Link relative (b) Chain indices (c) Price relative (d) Fisher index
3. Index numbers are basically classified into:

(a) 2 categories (b) 3 categories (c) 4 categories (d) 5 categories
4. Mid-point is also called

(a) Class mark (b) Population (c) Class boundaries (d) Class limits
5. Parameters are related to

(a) Sample (b) Population (c) Mean (d) Statistic
6. Fisher index number of Laspeyres’s and Paasche’s index numbers.

(a) AM (b) G.M (c) Median (d) Mode
7. The probability of appearing a tail, when a fair coin is tossed

: 1 1

(a) 0 (b) 3 (€ (d)1
8. Statistics are always

(a) Aggregate of facts (b) True and Figure (c) continuous (d) New
9. Averages are also called measures of

a) Variati :

(a) Variation (b) Location (c) Skewness (d) Median

10. Title should be in

(a) Small letters (b) Capital letters (c) Italic letters (d) Roman letters



MODEL PAPER INTER PART-II

Business Statistics (Essay Type)
Time: Marks: 40
Section — |
Q.2. Write short answers to any six (6) questions. 12
i. Define statistics in plural sense.
ii. Give any two important characteristics of statistics.
iii. Write any two limitations of statistics.
iv. What is continuous variables.
v. Give the advantages of arithmetic mean.
vi. Define Median.
vii. If $x = 450, and n=20, find arithmetic mean.
viii. If L=19.5, h=5, fm = 25, f=15 and f2 = 20, then find mode.
iv. Give the formula of coding methods to compute arithmetic mean.
Q3. Write short answers to any six (6) questions. 12
i. Define data.
ii. Explain the term primary data.
iii. Define simple index number.
iv. Define continuous data.
v. Explain fixed base method.
vi. Write any two uses of index numbers.
vii. Define price index.
viii. Define classification.

ix. Write sample pace for toss of a fair cubical die.




Section - I

Note: Attempt any three questions.

Q.4. (a) If an experiment measuring percentage of shortage on dying plastic clay test specimens

gave the following results.

19.3, 16.9, 17.8, 17.3, 15.8, 18.5,

174, 19.5, 20.4, 18.7, 22°3; 17.5,

18.4, 13.9, 18.8, 16.8, 14.9, 195,

19.4, 16.3, 17.8, 23.4, 17.4, 19.4,

21.8, 21.2, 18.2, 16.1, 18.3, 17.5,

16.5, 18.3, 17.5; 16.5, 18.6, 16.9,

16.5, 18.2, 20.2, 20.1, 17.5, 19.1,

17.4

Make the frequency distribution taking 1.0 as the size of class interval.

Draw a cumulative frequency curve for the following frequency distribution.

:' Class ___11641— (1213 (1415 [1617 (1819 [2021 2223 |
F la ‘g |16 |22 12 |6 01 |

Q‘S._(a_) lfbllowing_is the distribution of marks obtained by 60 student in economics tests

calculate the arithmetic mean.

Marks  l010  [1020 2030 30-40 ['40-50 [s0-60 |
! s I - = B 1 el
F |80 |56 _J_40_“_ 120 1w |1 03 |
(b) Calculate median of following data.

[ Class 1570-5.4 _‘ 5,5-5.9 | s.dfﬁi_ﬁ'l:é.s-ﬁ.g 7.0-7.4 '1.5-7.9 8.0-8.4__}
o 4 | 08 [12 | 20 16 10 05 |

Q6. (a) Anr*laal_average _price of four commodities for the years 1980-82 are given below. B
Construct index numbers for 1981 and 1982 taking 1980 as base by simple aggregative method.

| - 0 Year {
item ‘1980|1981 1982 |
Wheat 60 65 72 |
Rice 13C N | 150 160 ]
Cotton 420 - 480 540 |
| Sugar |0 | 280 1 300 |

Q.6. (b) From a well shuffled pack of 52 cards a card is drawn at rand_om, what is the pro_bability

that is (i) a card of diamond. (ii) An ace.
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‘Q,NO. 2 Write short answers of any Six parts 2x6=12 ’q?jo L.!.r?/""jz sl 7 {_c_.nj; 2 APJ’:’
| Define exchange bank é._éft’.df_ﬂﬁ.bk;} o
Define memorandum of bnak Z LT E| 2
Define mortgage bank f-f;hé’/’.,dlu-g.ﬁcﬁz =3
Define investment bank é.__’-;flﬁ/_@dﬁ;t/ -4
Write down the names of method of formation of bank é}frt&u:’é}&L/ﬁFﬁ.ﬁ -5
Define goldsmith i_g/-’m«b -6
Define prospectus Z-f.ij.-t,i? -7
What is meant by promoters ? ¢ cl_:yg(;..ugg -8
Define industrial bank é...yff-.ﬁ&“ -9

Q.NO. 3  Write short answers of any Six parts 2x6=12 E;’U..-.I,!ﬁ /‘-? Lz {c.Jf 3 /.}v'lr
Define Debit Card é..éf/"-gfb!’.p_d =1
What are the benefits of Clearing House ? ¢ L,gﬂ?gﬁ/;l; -2
Define Cheque Book EliLe| -3
What is meant by foreign currency account ? ¥ q.ﬁ/y’c.:brﬁ gf)’gfﬁf -4
Define bank customer é.{jd/_;b‘z._ﬁ =
._What is meant by minor customer of bank ? ¢ ‘a;!/g‘/a._{b'agtﬁ_ﬁ -6
Define security é—e}ﬁg{c)hf wt
How does a bank use the funds ? g grfdhz’lbfu/ﬁi_fuﬁ -8
Define marketable securities é_@/’%ﬂw’.-.d,)ﬁ -9

QNO. 4  Write short answers of any Six parts 2x6=12 Aoy F Loz zedf 4 Ay
Define the term " Credit " éh—é‘f?df R e -1
| Define bearer cheque é‘-!/"u-&g)h <2
| What is meant by promissory note ? ) g.}!fkﬁ:.aﬁ:d;f -3
What is meant by bill of exchange ? ¢ q_sl/'y/c.dik -4
What is meant by endorsement of cheque ? ¢ 4_:yy’;..cgw’J_{; -5
| Define foreign bill of exchange g‘..g‘/‘."d’di"f/! -6
| Define rate of exchange "_é—é‘/’.’.JJ)E/C; =7
Define spot rate of exchange _é—é*fd:‘:yb/'..zl{ -8
Define commercial letter of credit é..éﬂf-'d’kidxkﬁié;tf -9

(PART I )  pyd4san

NOTE : Attempt any Three questions from this part 8x3=24 éfd’ .:.Ulrwfa.dfc.uﬁ.ﬁu'l <y

Write the main functions of the Central Bank éygﬂ/’d@&.ﬁd}f/ 51

Discuss the qualities of a good banking system é@b&?f’ifd&;f@él-g -@’-‘U'—"

Differentiate the current account and saving account in detail ,'-;i'ugn.;v'&)u:;u&gm;u’;.g ..7/:}.Jlr
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Which method is used for the formation of bank ? ¢ .;_tfg}:f;,.'aljgfrr_uﬂufrgK_@ <

Company ordinance :.ﬁi;"o";(C) Special ordinance ;.ﬁiﬁd‘r“’: (B) Royal order :..r'gﬁuiﬁfpﬁ (A)
All these = U# Ul (D)

Which document indicates the authority and limitations of bank ? ¢ .;__J/Q-G:Gm»bl_.'ﬁfﬁ_ﬂ:;ﬁ?:@yc.du! 2
Certificate incorporation /*4.§ulTedk, (C) Bank articles il % (B) Bank Memorandum & 65 (A)
Prospectus ,.»tu? (D)

Bank is a ............ institution Gt} i Sk .3
All of these ¢z, (D) Religious (:(C) Social & (B) Financial Jya (A)

Current account is suitable for é_tﬁuuf._iijl/'!:hfafg -4
None of these u.?;éfc_ufuf (D) Business community 2+(,\s,§ (C) Salaried persons ;buf}"r (B) Capitalists Jisi.t~ (A)

Which function does central bank perform ? 3 ‘LLerla""/;fe_’/’LJde/;’ -5
Bank of public & 6715 (D) Lender of last resort LS4 T6Us& (C) Advancing loan 5%/ (B) Credit creation ;J&‘?{A)

How many types of loan are issued by the bank according to term ? ) u}gﬁ?ﬁbx”’g{uﬁﬁa}djgﬁ_ﬁ;w‘."_ag -6
4 (D) 3 (C) 2(B) 5 (A)

Long term period consists of ;.anj&xi?;{u}} -7
All of these (!2:, (D)  Years ,U/l (C) Months {u:':.‘f" (B) Days .;uﬁ: (A)

Cheque can be crossed ‘:-_ff/dxb’w/{.é -8
All of these (li, (D) Holder A (C) Drawee .Ji=/ (B) Drawer aﬁf.,:-‘/ (A)

A person who writes bill is called g_?éfqu_cjgﬁ;f{’ -9
Acceptor ax-iOr:" (D) Payee n.c-'fd:‘: (C) Drawer u}if:,:-'/ (B) Drawee .Ji—r (A)

Cheque is a written order drawn on ;.t?g’u;@i.;_,cfd;fu_ﬁ_g -10
All of these ({Z (D) Customer ¢t (¥ (C) Bank #tL £ (B) Endorsee r-tz:.grc;jﬁ (A)

E-Banking provides benefits to the Vfé’.ﬂfbﬂ;’f_ﬁ S -11
All of these ¢lZ. (D) Economy Seze (C) Banker £€ (B) Account holder Oisd (A)

Which of the given rate keeps the balance of payments in equilibrium ? ¢ ‘aéﬁdwé.éwlﬁéu&;mq_éMgz,;-u =12
Market rate ,1jl7,> (D) Exchange rate J\*{” (C) Interest rate »»{ (B) Discount rate &S (A)

What is the nature of credit instrument 1.O.U ? %JT(:JJJE:IJ =13
A sonograph JT6L_ /i1 2, (C) A holograph Fdnde A5 (B) Amonograph s7Sus™ 5l (A)
None of these Jfgjx(c_.;,ﬂul (D)

A bank receives on issuing a letter of credit ?rfﬂm;izléyd;w_ﬁ. -14
All of these L, (D) Commission ;f‘f (C) Interest s (B) Profit (‘,.’,L:w (A)

Foreign exchange control reduces the 4"_t‘ﬁ(c..d:}-°'g;.plé.bl_f -15
Import of capital AN (C) Export of capital WasaTs (B) Circulation of capital t/’g@f (A)
None of these (/e (D)
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_Azad Jammu & Kashmir Board Of Intermediate and Secondary Education, Mirpur

v Model paper A—ZﬂZb
STATISTICS !
(Part ~I1) (INTERMEDIATE) Marks © 17

(OBIJECTIVE PART) Time :20Minutes

Note:- Write your Roll No. in space provided. Over writing, cutting, using of lead pencil
will result in loss of marks. All questions are to be attempted.

[, Each question has four possible answers, Tick ( V ) the correct answer. (17)
;[ | | Normal distribution is _ —
Al Uni-modal | B [ Bi-modal .C | Tri-modal | D | Multi-modal
2 | The limits of the normal distribution are:
Al 0 o %0 [B] oo |C] 00 |D] Otol
3 | The co-efficient of skewness of a normal distribution is =
A | Negative | B | positive [c] 3 [ D | Zero
4 | A value calculated from population is called :
A Statistic | B] Mean [C] _ Parameter | D |  Proportion
5 | A complete list of elements in a population is called o
- |A [ Population | B | Sampling frame | C | Sampling design | D | Sampling unit
6 | The standard error of the sample mean fora?= 16 and n=4 is
' |A] 2 [B] I = 4 D | 8
| 7 | A statistic 4 is said to be unbiased estimator of 8, if
Al  EGye |B] E@»8 |C| E@G=8 |D] E@)<6
;;8 The point estimate of y is
[ |A] g | B | o’ | C | U | D | x
' 9 Which of the following cannot be null hypothesis
| [A] g % 0- [B | 9 =0 | C ] 6 > 6 | D | 6 < 6
| 10 | For a least squares trend line § = a + bx ,which one is true
| Al sy=% [B] =0 J[c] 3¥¥>% [D] 3Iy<¥
[ 11 [ When b, is positive, then by, will be
[ TA] Negative | B | Zero | C | Positive | D | >2
[ 12 f If two variables are perfectly positively correlated, then the value of ‘r’ is
| Al 0 | B | -1 [ C | >1 | D | 1
{ 13 | There are----- parameters of Chi-square distribution
[A] 2 | B | 1 [C] : [D | 3
14 | The co-efficient of association Q lies between
A I -00to+00 B -o0and+1 C 0 and +1 D -1 and +1
15 | Increase in demand of ice cream in Summer is an example of
A | Seasonal variations | B Trend ¢ Cyclical D | Irregular variations
variations
16 | A sudden decrease in supplies due to floods, is an example of :
A Secular trend B Segsonal C | Irregular variations | D Cyclical
variations variations
17 | A set of instructions that runs the computer
Al Software [ B | Printers | C | Hardware | D | Monitors
(The End)
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Azad Jammu & Kashmir Board Of Intermediate and Secondary Education, Mirpur

Model paper A—ZO;"

STATISTICS

(1rart

Note:-Attempt any TWENTY TWO (22) short questions in all selecting eight from

4-

1) (INTERMEDIATE)
(SUBJECTIVE PART)

-2 and Q.3 cach and six from Q.4.

SECTION -1

Wtrilc short answers of any cight questions.

Marks . 68
Time : 2:40 Hours

(22x2 =44)

(2x8= 16)

1 Describe the parameters of normal distribution

How much area of the normal distribution lies

betwecenu —gandpu + @
il | Ina normal distribution ¢ = 25and o = 5 find | Iv | The first and third quartiles of a normal
mean deviation distribution are 60 and 80 respectively, findu
V | Why B, is zero in a normal distribution? Vi | What is meant by statistical inference?
Vii | Find the point estimate of u while a sample Viii | Give an example of type -1l error
consists of values 5,10,12,23 25
Ix | Define composite hypothesis X | GiventhatX =13, u=10,0 =4andn =4
_ find Z.
X1 | What is computer software? Xii | Define output devices in computer.
Write short answers of any eight questions. (2x8=16)
' I ' Define sampling error. Ii Given N=310, n=100, ¢ = 60 find oz, if
sampling is done without replacement.
| L I Differentiate between probability and non Iv | Find p; given that n=5 and P=0.4
] probability sampling.
& [ What is the purpose of sampling? Vi | Define sampled population.
J il ’ If a=30 and b=2 then estimate y for x=15 Viii | Describe at least any two properties of regression
co-efficient.
Ix ’ What is meant by dependent variable in X | Find ‘1" if b,y =1.4 and by,= 0.5
regression?
LX:' Interpret the meanings of 'r’ whenr=+1 and | Xii | Distinguish between positive and negative
r=-1 correlation.

Write short answers of any six questions. (2x6=12)
[T | For two attributes A and B, describe the li | Given that (AB) =50, (A) =120 and (B) =200 find
Yule’s co-efficient of association. the value of n, if the attributes A and B are

independent.
[ii | What is meant by positive association? Iv | Define historigram.
V | What is difference between signal and noise? | Vi | Given that y = 28 4 2x and x=-1,0, 1, find ¥’y
Viii | Describe the additive and multiplicative models in

Vii | Give an example of seasonal variations.

time series.

Ix | What are moving averages?

SECTION-II

Note:- Attempt any three questions.
(a) In a normal distribution, variance is 4. Find the first four moments about mean.

(b) The mean and standard deviation in a normal distribution are 30 and 10 respectively, find

8=

(1) Mean Deviation.
(i1) Quartile Deviation
(111) Median

(iv) Mode

(3x8=24)
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MODEL PAPER ( 12th CLASS )
COMMERCIAL GEOGRAPHY i (LI

Q. Paper : II (Objective Type) (;-}U:’.-/" R | I
Time Allowed : 20 Minutes < 20 o
Maximum Marks : 15 15 : A F

/I""

4‘1..7.l:‘.’..:..n,-.:_.uf._,':}f:c_.c_.;&vf..dly;.;gébﬂé'ﬁ ng.::_.:D MC:«B:<A _-,Llﬁ_—,.ﬁk-."/__}l‘y/: Zik

-fnn"b&._.«'ﬁu»&gfaﬁ"dfé./q /..‘.-E/ L L.f{:!(u;.?bugia...g _g;/?'a_@-kﬁh';}bﬁlﬁ'auv

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

s

Grasslands ul-Z '\ (D)  Equatorial §i1 (C)  Desert )~ ()  Tundra L (A)

From which language the word Geography is derived : L P e Wb J( HA201 -1
Chinese $% (D) Greek 3ty (C) French ¥/} (B)  English §z.5 (A)
The areas of the world are favourable for herding : L S WK Lk L2

the following that separates Hindukush from Koh-e-Sufaid :
Bolan Uy (D)  Chenab i (C) Indus 24~ (B) Kabul f§ (A)

Point out the primary economic activity from the following : ;é $sw & -,-’/; uiLv él}.! = L J5|3
Research J-:.'“’z (D) Services =l (C) Fishing gj[&l, (B) Industry == (A)
The grasslands of Africa are called : V4 Eu Wlar L 'S o (5’1,: 4
Prairies §z; (D)  Steppes - (C)  Compos ;_,’.»;'/ (B)  Savannas tl» (A)
The proportion of world's population in China énd Indiais : : - rt € oA T Y Ly & L& ot %5
44 57 % (D) 2 47 % (C) w4 37 % (B) 27 % (A)
Alfred Weber's industrial theory was presented in : : of J Lf-'.- u’u? 3" J Pyl
: 1909 AD. (D) 1809 AD. (C) ;1709 AD. (B) , 1609 A.D. (A)
Industrial Revolution in the world was initiated from : e SETE CE’/ e Lo |7
Russia J» (D) China ¢#% (C) USA Iy (B) Britain b (A)
World's first mineral oil well in 1859 A.D was drilled in: Iif 7 o ¥ E Ju.v br ¥ 2~ +1859(8
South Africa .‘g)u}ﬁ (D) Brazil J_j;i/. (C) Romania -:\s/ (B) Pakistan ;_-JL"):L (A)
Which country is at the top rank in e edr M Lol WL s L o dale
respect of natural gas reserves :
Finland ¢ (D)  Canada k¥ (C) Russia U3 (B) China ¢ (A)
Point out the river given in  : < b e < b of S S of 2 _.él gsw § Lo L & 3]0

(&h.’ JJJ)




(2)
How much area of Pakistan is comprised of - J-}y £ Cf:/ L sl Usilg 2 (Y ;,'l"/’g 11-1
mountains and plateaus :
#4279 % (D) 4469 % (C) 44 59 % (B) A 49 % (A)
In Pakistan, the Bela forests are found : gL et £k 2 ol [12
In deserts Uil (B) Along the rivers #L-Z Uil (A)
In coastal areas u:g}‘uwl‘b (D) In mountains HUsil (C)
The proportion of rural population in Pakistan is L B K LT S w13
4460 % (D) 4 50 % (C) 4 40 % (B) 4430 % (A)
For the cultivation of wheat, the rain is required : Py 72 k& L =2¥ g (ﬂ’ 14
%180 inches (D) &' 60 inches (C) &1 40 inches (B) &' 20 inches (A)
Why clay soil is essential for rice cultivation : e S ud & L Lelvd Jrk |15
Retain water over longer time ‘Lﬁﬁaﬂ/‘&:up&& (B) It is fertile .;_.;j:r)?.:} (A)
Gives more yield ..»_J“ 3340345 (D) Water absorbed instantly ‘;tt‘m.__.,,'g»kfj_g (C)

drdkdrd Rk hkdhh bk kddkhdbhhddhddhhkkbdhhhddddrhb bk kdd
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MODEL PAPER ( 12th CLASS )
COMMERCIAL GEOGRAPHY I (i

Paper : 1T (Essay Type) CALENDTL 5y
Time Allowed : 2.10 Hours 2 210 =
Maximum Marks : 60 60 : AF

( PART-1 Ui .»)

12 2. Write short answers to any SIX (6) questions : : é IO 4 /‘? L Uy (6) g = Ljf -2

(i) Write the comprehensive definition of commercial geography. _2"...@/""3’ w’,j'/"%uib» (1)

o

(i) What is the difference between primary and e 3/ U % Ut/ Sbe S8 U Jia (i)
secondary economic activities?

(iiiy How the planktons are useful in fishing? St sl & &{g S SLGL i)
(iv) How the population density is measured? fou J{? S d: dt;f g GobT (iv)
(v) Write the name of two grasslands of tropical region..&rt Usiled S UWnd sboibe (V)
(vi) Define industry. & 7§ e (i)
(vii) What is meant by iron age? fe sy Ve L <« ¢ (vii)

(vii) What is the role of China in cotton textile industry?f<_ M y’ K o2 o &E-:f& g}r (viii)

(ix) Describe the importance of nitrogen fertilizer. - lest § oW St (ix)

12 3. Write short answers to any SIX (6) questions : : ‘,_._p' =2 /3 L =y (6) & < Jf
(i) What is potamic theory? e K Ut QLo ()

(iiy Why shifting cultivation is not suitable? T wm il U =15 S i)

(iii) Describe two types of rice in L UV § Db e 5 L f:ﬁ SEED

perspective of geographical distribution.

(iv) Write down the most important countries -gf ;/‘“ (e L v ! i /S I @l (iv)
of wool production.

(v) Write the name of two types of tea. & rt & rL31 1 J &L (v)

(vi) What is the native area of natural rubber plant? S - of AHSK g & v 3.4 (vi)
(vil) Write the four names of iron ore. i L b § e (i
(viii) When and where the first mineral oil well was drilled? €4/ 1s#U/0sl /U1 e KU e (v
(ix) What is the chemical composition of natural gas? ~ Se " o/~ vt o s (ix)

12 4. Write short answers to any SIX (6) questions : - é 4] 4 /‘? L =y (6) g e JJ(
(i) Describe the location and abuttals of Pakistan.  -&& Wk 2.t 4 EHF € L (i)

(i) What do you know about K-2? Wb T ek &L i)

(i) What is the difference between Cholistan f— J/" L:" e b 17 sl g 1 A7 (i)
desert and Kharan desert?

(iv) In Pakistan which season is observed ‘< B Jifg pli e o Y J/ ¥ L-)l‘;fl; (iv)
the highest rainfall?

( il J;})

-3

-4



(2)
4. (v) Define forest. -”é - /‘7 L;( (ﬁ (v)
(vi) Why the small dams are important for Pakistan?¢t s/ Ul & £ uL"z"_E 3 LsZ (i)
(vii) Write the four name of sugarcane growing areas. Jiﬁ ct L L,';’lu /e L =2 L,f L (vii)

(viii) What do you know about Mangla S Z b T U st £ o L f‘_z, 18 (vii)
hydal power project?

(i) Why the Balochistan province is U -« T ¢ o o = 5 £ $T gtzd - (ix)
least populated?

( PART-1I rs -2 )

Note : Attempt any THREE questions. _é ;f- =2 L = lly u.; & Jf JOT
8 Z e I S o S b e p Ve uedy S QU

5. What is meant by human economic activities? Give detail of
primary economic activities.

8 Y Tt e @ § GaT ks
6. What do you know about the population distribution in the world?

8 __é :,/-f- K ol e A ks
7. Evaluate the different types of agriculture in the world.

8 FEokea§ ket § L 22 oy U o]
8. Describe the cotton cultivation in Pakistan and its role in the economy of the country.

8 ..é:( K f:-:d J/ T S ot (Fr A L'JL-I.E

8. Compare the urban and rural population distribution in Pakistan.

e e e g e 3 e e e e ke e ke v ke e ok e e ol o ol o o e e o ok e ok e ok e ok ke e o ol o ol o o e e ok e e o
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HSSC.(Part-ll)

Psychology (Objective) (Model Paper) () Gl el
Marks: 17 Time:20 minutes

:Z?a.bé./'f.)ir'u"gté(d‘i._}.@mf'.:'(...Jﬁu;:s;_;_‘?{4:';:..)DJ:I,C,B,A.:QJJ?,&?:?L/.JU’/.eﬂéfdlﬁu‘g/’f&:&I_.fﬁﬁ.:.«u!rrl} O%)

- ;/:a.&?Jwﬁk/ﬁff_}":lh:‘c.ﬁu://l:éD \ C.BA

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in

1.1 At the time of birth child's height is:

10.

1.

12

13.

14.

15.

16.

17.

front of each question with Marker or pen ink on the answer sheet provided.

A) 45-53cm (B) 32-35¢m (C) 45-80 cm D) 30 - 40 cm

Learning individual tasks like swimming and writing are called: :ugawaulé:ﬁléém Py
A  Phylogenetic JE#% ()  Genec &>  (C) Ontogenetic &257 (D) Growth 5./
Children start abstract thinking at the age of ___ years. gL I et S b Eris A
A 10 (8) 12 ©) 8 D) 5
Schizophrenia is a mental disrder: e S LigEoe
@ Anxiety 2 ) Severe x4 ©) Normal e ) Less severe 4457
When was first book on social psychoogy published? ‘-'L:‘Tf{ﬁ gV :,_-D/ %{;L_J&r
@ 1910 ) 1908 ©) 1902 D) 1921

How many types of violence are : ‘-‘;,_n'rbilg?:j:ﬁ
A 2 ®) 3 ©) 4 D) 6

According to Kamble & Young how many stages are required for public opinion? < TN - ( SOV Ry | P o 3
@A 5 (8) 4 (C) 2 D) 8

Ego works on which principle? = & Kz w6
@) Lie <o (B) Pleasure principle=J_»*! (C) Reality principle =%»! D) Ideas = r¥
When did Erickson present theory of development? WL AP v’{’ '
(A) 1910 (B) 1902 (€ 1914 (D) 1909

How many stages of moral development of Kohiberg theory? ST LA L A
A 2 B) 4 ©) 6 D) 8

From where medical view point organized? e ISCTERES
(A Iran ! (B) Turkey (C) Syria ¥ (D) Greece Jty

How many elements are in socialization” T A
A 10 ®) g (©) 8 ) 7

How many types of instrumental violence are? ‘.‘ugrLjI‘fi’;) ¥ ;: uT
A 4 (B) 2 (C) 3 (D) 10

Mostly victims of sexual harrasment are: (sl ;Jﬁisi; /_?J’
@ Men 5 () Women and childrené-s/C.#*  (C) Women £# (D) Older people & 24
How many principles of guidance are: e &L
A 7 (B) 6 () 10 D) 3

Concept of depth perception is leamt through: te bbb /S
(A) Interest :..d:ﬁ: (B) Talking = &_» (C)  Experience =< f- (D) Hearing &
Primary group is called as: 1{-f1k'§:fj'»'é’

« by K«f_‘- =hL {_:)Lg_g 1.1

10
Rk
A2
A3
14
15
16

A7

@ Famiyise  (B) Relatves =% (C) PeopleofonecitySt. Lt (D) People of one countryFh sl bt

Model Paper/12
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HSSC.(Part-Il)

Psychology (subjective)

Marks: 68
Section-|
2. Write short answers of any eight parts of the following:
i. How developmental psychology is important branch of psychology?
ii. What is meant by physical change?
iii. Describe four stages of cognitive development of Piagets.
iv. Give two principles of guidance.
V. What is meant by ego?
vi. What is meant by transference?
vii. What are the changes which take place in physical development?
viii. What is meant by ABC model?
ix. What is meant by super ego?
x. Who presented psycho analytical technique of counseling?
xi. Describe importance of guidance.
xii. Define maturation.
3. Write short answers of any eight parts of the following:
i. Define stress.
ii. What is meant by approach avoidance conflict?
iii. What is meant by eating disorder?
iv. What is meant by delusion?
v. What is meant by phobia?
vi. Give importance of exercise.
vii. Describe the symptoms of disorganied schizopherenia?
viii. What is statistical criteria of mental health?
ix. What is meant by good health?
x. Describe briefly abnormal behaviour.
xi. Describe approach approach conflict.
4. Write short answers of any six parts of the following:
. Define social psychology.
ii. Why anti social behaviour is disliked?
iil. Who are most likely victims of the sexual harassment?
iv. Give any four types of public opinion.
V. How prejudice can be eradicated?
vi. Describe the disadvantages of the drug addiction.
vii. Through which method public epinion is measured?
viii. Whatis meant by leader?
ix. Describe the characteristics of the leadership.
Section-ll
Note: Answer any three questions from the following:
S. Explain eight stages of Erikson's theory.
6. Discuss the mechanism of stress.
7. Explain rational emotive behavioural method of treatment.
8. Explain in detail methods for measuresment of attitudes.
9. Describe types of schizophrenia.

Model Paper/12

(Model Paper)

(8x2=16)

(8x2=16)

(6x2=12)

(8x3=24)

(20l el

Time: 2:40 Hours
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HSSC.(Part-ll)

Islamiyat Elective (Objective) (Model Paper)  (%)S .3 luminin | it et S|

Marks; 20 Time:30 minutes
;22_‘-L':C/:Ulru’l{;QKL}LKU.'.‘{..-/».T7/._..,1.-3;.&u_g'é’:é..;Dnl‘C,B,Aatlﬁj;gﬁJlr;Z;’U{r-Qfdlﬂu:';/"fd;agiﬁﬁaulrrb’" 7
_u:;/‘.‘;.&_lr\;u[_'?l_./cl.);.fbﬁw‘aL}:u;fhé:l)!, C,BA

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in

front of each question with Marker or pen ink on the answer sheet provided.

1.1 Jami-ul-Quran is the title of: e teuTA L 1.1
(A) HazratUmar (RA) 4= (B) HazratUsman (RA)U®=# (C) Hazrat Al RA)¥=# (D) Hazrat Zaid (RA) /= =

2. Played a central role in compilation of the Qur'an: VoSS p ST Pefsh 2
(A) Hazrat Usama bin Zaid (R.A) i_Ju:.-L—i..-../"" (B) Hazrat Zaid bin Argam (R.A) ?:u),‘ j= 2
(C) Hazrat Zaid bin Sabit (R.A) &;b¢/ik iz # (D) Hazrat Zaid bin Harsa (R.A) L 2.b/s e 2

3. “lsrael" s the title of e IS 3

() Hazrat Ibrahim (A.S) izl= > (B) Hazrat Musa (A.S) (%= (C) Hazrat Yaqoob (A.S)o 2= (D) Hazrat Nouh (A.S) T 4=

4. According to Surah Al-Baqarah, the first attribute of the pious is: = .;A"J.f d/u? = J/s,;'.J Iy 4
@ A (B) 17 (C) Lol (D) el

5. The number of tribes of Bani Israel were: ELL S5 5
@ 10 8) 1 ©) 12 D) 13

6. Meaning of "Baqarah” is: gGLi2 6
) Cow &€ B8) Calf 14 ©) Goat §£ D) Sheep #*

7. Allah gave freedom to Bani Israel from the: QW E G dod 7
() People of Samood <7 (B) Peopleof Aad —sk(# (C) Peopleof Pharaoh —J#4+# (D)  People of Lout = b2 7

8. Meaning of ' is: :4‘;1';{:"('3*!' 8
A Releasewater (k3L (B) Askedforwaler i3l (O  Showered UitdL D) Watered L1+

9. Haroot and Maroot were sent in: WUUitdlastszsd 9
A Syria e 8  Babylonutkl  (C)  Madyanfefs (D) Egypt U=~

10. Baituallah was constructed by: S s 10

() Hazrat Dawood (A.S) sin=*> (B) HazratMusa(AS) Uri=/ () Hazralishaq(AS) Ukl (D) Hazrat Ibrahim (A.S) &Flclz =

11. Hadith Qudsi is that which is related to: eSS e i e 11
(&) Allah aimighty =3 4S5 (B) Rasool (SAW) 32 D1y (C) Sahabi AN (D)  Tabai o3 AS0E

12. Compiler of Sahih Muslim was died in: ;.‘;.JVK:.B;f;iJfL(J"é‘ A2
® 260 AH (8) 261AH ©) 262AH 0) 263 AH

13. Intention is related to: e P 13
A Tongue = ¢t (8) Hand = #} © Brain {4 0) Heart = >

14. The third stage of human creation in the mother's womb is called: e bkl SKFE UL s L 14
n A (8) Ahias © e (D Lk

15. There are legitimate cases of killing a Muslim: (AL eSS " 15
@ 3 (8) 4 ©) 5 (D) 6

16. Meaning of "—&*" is: P ] G T [
@ Relative /1»=% (8) Friend =1 ©) Guest b’ (D) Neighbour L+

17. Pillar of *Deen" is: e UKL AT
@&  PrayersU  (B) OGrattude £ (C) Charity 34 (D) Patience

18. To provide evidence in a trial is the duty of: e Yt st ins’ 18
()  Administration S+ (B)  Theplaintf S$» (@  Accused (k4 (D) Witness oty

19. Grammatically, the word "Muslimoon" is: tq.."c):‘p ":..J;J/if:} /19
(A Feminine form &+* (B)  Singular »/»  (C) Tasnia " (D) Plural &

20. Theword that tells about the past is called: bl S5V 2inHy 20
N W e S © AL ) s
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HSSC.(Part-ll)

Iy

Islamiyat Elective (subjective) (Model Paper) ZE0) (S 3 it | bty St
Marks: 80 Time: 2:30 Hours
Section-l Jile
2. Write short answers of any six parts of the following: (Bx2=12) -Z e Pl ng e M diitn 2
i. Explain the difference between "Tarteeb-e-Nazuli* and *Tarleeb-e-Tougeef* of the Holy Quran. ZOWIRE I bS] |
. Explin the relationship between the first revelation of te Holy Quran and the importance of knowledge. AN AN BN A AR
iil. Which two caliphs rendered the most services in compiling of the Qur'an? WYkl etsnic o ol A5 i il
iv. Write four characteristics of the Holy Qur'an. E el
V.. At the beginning of Surzh ALBagarah, Alah amighty iided human beings info which three qroups?  — At SU[ L s S M T UIUIL SS I TL i
vi. What the atiributes, a Muslim must adopt to become a "Muttagi*? Mention at least Sl ol G2 L 2P i
four attributes. ST
vil. When the hypocrites are asked to become true Muslims, what do they say in response? Y - AV (PR RN (72 uu/&?g.fu:"’v Vi
vill. Write the reason why Hazrat Adam (PBUH) was expelled from Paradise. YAl e w2 e e 2 i
ix. Surah al-Bagarah recommends seeking help through which two things? fe Gf S :}'.Z../U"'bu.;{. sLUnZ »J;ﬂ. Ay ix
3. Write short answers of any six parts of the following: (6x2=12) Z fe Pl e M L 3Ts 3
i. What was the Jewish claim about heaven and hell? Write two points. b BISKpt FL ez
. Mention four of the rewards of Allah on the Bani Israel. - ST Sl (G S i
ii. What lesson do we get in practical life from from the event of Saturday? Write at leasttwo (1 S b2 L (s e L ey i
points. - S2feln
iv. Explain relationship between the event of cow slaughtering and the belief in the Hereafter. —gZ & Is(PLE A T6ie # Tosdliindl & S T3 € iy
v. Why were Muslims forbidden to say word "Raana"? Write the background. _EU Y93 LJ'J s c.¢f LU v
vi. Wite the literal and terminological meaning of "Hadith". L G S i e” i
vii. Explain the difference beween "Tab'ee” and "Taba Tab'ee". _éc‘j'l;dﬁut:'d’tg'»l'&t' Vi
Vil Write the names of the complers of Sahih Muslim and Jami Tirnadhi, Il Lo E i
ix. Write a verse (Arabic text) of the Holy Quran on the importance of Sunnah of the Prohet ;f(fd/)afunguf}{wnJ & > i
(PBUH). -

4. Write short answers of any Eight parts of the following: (8x2=16) e L2 e e LS it 4
i. Write down the example with which Rasulullah (SAW) clarified the importance of & e Jin 2l & diridectt § "t S i
"intention” in the acceptance of actions. -;_,_f/;fi:\._f
ii. Write the names of four of the members of Islam. ‘u{)},’;rca:;gc_.u:rwlu{;l i
jii. Explain "Lgz, 20 Yiak o1 -._-;—f..-.at.‘nJ/'L*-,-,a.-\‘n.L.; o i
iv. Explain the meaning of “lhsan* according to Hadith Gabriel. ~Eoe ¥ ora sl fizace
v. Explain “lkram daif * and “lkram Jar". EARSEE '.«kgrl/';:f '..ifﬁ'lﬁ' v
vi. How can "Zabiha" be relieved? Write two points. bt Fodgd ol " £ v
vii. Write two of the permissible cases of killing of a Muslim. e St SIL b i
viii. As a Muslim, what are the "lawless" acts that we shoud avoid? Write four points. -;{)}faﬁ‘;g‘.‘ggtf.,.tkl;.uﬂ’ s U":j:'udf;.}! viil
ix. How can you give charity without spending money? Write four points. LIPS B E S WS TR IN
x. According to Hadith, explain how a person can become a favourite of Allah & people? ‘.‘5_ﬁatq‘.’u"’:;_gl’gm‘ﬂJLﬁJIuLJ'_J_Tff_éyu;c.uJa» X
xi. Define *Feal Amar (1) and write an example of it SR LS 3 S SHS xi
xii. Write the plural: S o I ;.-!“6 Xii

Section-lI (120
5. Translate and explain the following Quranic verse: (4+6=10) :é G'}ZJJK&LTJT}JJZ-,;J 5
s om G 1y JacHT T (0 0 0 B 4 R 0 i o (it Yl
6. Explain any one of the following Quranic verses with reference to context: (10) _qfwum.JwaJ«TJT}.ﬂf = LJits 6
@ g 18 ol o A 2 ()

(8) 338 Gl e § sy 1B o6 (+)

7. Translate and explain the following Hadith: (4+6=10) FE A sl itn 1
, TPy FEp [N P JOR e R

8. Explain with réference to the context any two of the following Ahadith: (5+5=10) ..:al.bn-_dlpdg-J & dﬁ.mw»o/ :..gﬂdibu 8

| &
I D] oAl ik () e S P ()

Model Paper/12

W S S J 1A ()




Roll No.

(‘ . *
h//':ﬁl:.fl l

- Group-I- ....d/r
Education (Objeciive Type) // Ll

Marks: 20

Al sz W o W2

(For all sessions)

Time : 30 Minutes £ 30 :-":’!
B & 3Dk CaB.A,;-J,Lr‘.’.‘ka;é.J'm@iéféazﬁ/é{;’;.—.pﬁéa:flr‘.;:.- :

5%

Paper Code

(&/)f'qk
20: #

LA Sl Sl 35 LUl Dusl CBA s2E L
NOTE: write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1- 1- The Book “Al -Shifa Consists of
(A) 14 28
(C) 1811
2- Dars-e- Nizami emphasized the most aver
(A) Copying 4= U@
(C) History T

4

volumes.

3- Who promoted the movement of Madrassa Rahimia:

(A) Shah Wali Ullan Zi}s

(C) Shah abdul Wahab —4/1s%

Which subject was taught in university of Azhar by Ibn-e- Khaldoon.?
(A) Figah 3

(C) History Eur

5- Education policy was introduced by Charles Grant:
(A) Wood Dispatch Eib

(C) Benting Resolution u”:’;}uﬁ:

6- Number of Muslim students among 400 students in Government College Hugli was:
(A) 5 &L
(C)6
7- Who laid foundation of Pakistan Movement in Sub-continent:
(A) Allama Igbal P
(C) Muhammad Ali Johar .2 Fé

(A) Lord Hurding £isi.y
(C) Chales Wood s/ ’le

To establish the post of Director Public Instruction was recommended by:

:c‘_ﬁu.’:\l’vlﬁf‘fvb‘-’/.‘l A
(B) 16 -
(D) 20 7
e Lninlie rLYE UL 2
(B) Reasoning _;.;,u;-'?l‘
(D) Politics 4=k
:Lbkif&_u{ft}‘ll’;ﬁ_/‘ﬁ.ﬁu 3
(B) Nizam-ud-Din /i
(D) Shah Abdul Rahim 25
:Un’:d:‘b’l/;;;_,'..'.'_J';'En:..._,;tn;g‘.! A
(B) Sociology =L/ -
(D) Science . )
SOl e/ s 5
(B) Sargent Report g a2

(D) East India Company L}f-fgj:l.v_'l
CEIS Wl e Lot st 6

(By4
(D) 10 v
(LSS AR 7
(B) Sir Syed Ahmed 2l '
(D) Hassan Nizami S8y~

WIS S Frusb AL, A0 8
(B) Charles Grant <1/t
(D) Mount Batten

gFesil

9- In the education policy of 1992, how much quantity of colleges increased over 535: :J:;\)L?;‘VZG- 535:'4;.;".)1?'(%;4&-‘.- Se1992 9
(A) 832 (B) 719
(C) 910 (D) 935

10- Military training was made compulsory for students in education policy: ;JL:,,’_;;._;&_L’,;‘)‘____,_;U{,‘U:U:"-_ Uej;'. 10
(A) 1947AD (B) 1959 A.D :
(C) 1972-80A.D (D) 1959 A.D .

11- The participants of education conference 1947 was divided in committees: WL UL 04T P 1
(A) 10 (B) 12
(Cy 18 (D) 18

12- The duration of 6th five year plan was: :Gfi,;;b’;;ﬂ’_lvél‘.lq #T 12
(A) 1998-2003 (B) 1993-1998
(C) 1891-1996 (D) 1992-1997 2

13- The population of world in 1999 was: SO it 1999 13
(A) 500 Crore J!/r.’;g (B) 550 Crore ::/ngé,&
(C) 600 Crore ir/vsf (D) 650 Crore  i»//grd

14- Numerically the largest class in Pakistan society is: :.f_.iblz..-_.,—f;,;::s:g,xvff_}ujp{ A4
(A) Feudal yde (B) Capitalists <=k~
(C) Middle class a7 (D) Poor Class </

15- In Pakistan drop out rate at primary level is:
(A) 45%

(C) 55%
18- In Pakistan the decrease of women education is due to:

(A) Co-Education ~1E
(C) Population education =44~
17- University of education was established in:
(A) 1998
(C) 2002
18- The quantity of colleges of education in Baluchistan is:
(A) 1
(C) 3
19- Examinations of 5" and 8" class has managed at:
{A) Provisional Level /‘d”éw

©) oy

20- The previous name of colleges of elementary education was:

Tehsil Level

(A) Center of excellence -1,
(C) Normal Schools JF

e UPE i U St 15

(B) 50%
(D) 60% o
ie2fU LU AU 16
(B) Non Formal Education (2747
(D) Sccial Education ~ae _
IJ‘;(F&“’-‘EIJTJ';;'{ A7
(B) 2000
(D) 2005 :
:lé)l.-;{,rp'?;{'.JTf.‘U:uC/; 418
(B) 2
(D) 4

e b= L aolay ATl €L 19

(B) Divisional Level ¢ fu% s}

(D) District Level 48"5&'
i?rtclz,s‘;f-‘;.ﬂd)f'uv’u’,zu

A

A G

(B) Training Agencies
(D) Training Colleges

Board: Rawalpindi
Paper setter: Asma Shahzadi
N332 0977373




Roll No. (./':j:ﬁru_._af

(For all sessions)

Paper Code

Group-l 3/
Education ]/ (Essay Type) v

Marks: 80 ’ Time : 2.30 Hours &4 2:30: =%
Section -1 2x25=50

2- Write short answers of any eight parts from the following. 2x8=16

i. Write two characteristics of suffah.

ii. Write two advantages of Discussion method.

iii. What is meant by rational knowledge according to Ibn-e-Kahldoon.

iv. What was the curriculum at secondary education in the Muslim regime?

v. Describe the two advantages of Monitorial system.

vi. Write two important educational events of third period during the British rule in India.
vii. What was the status of science subject in British curriculum?

viii. Write two demerits of British examination system.

ix. What was admitted by Thomas Munro in his report.

x. Write two important educational recommendations of charter Act 1813.

xi. What were the conditions of system of Grants-in-Aid?

xii.What was described about eastern knowledge and literature in Wood Dispatch.

3- Write short answers of any eight parts from the following. 2x8=16

i. Describe two characteristics of Ali Garh Institute Gazette.

ii. Write two points on the importance of Muhammad-Un- Educational conference.

iii. Why national book foundation was established?

iv. What was the recommended about the training of civics in educational conference 1947.
v. Write two suggestions about Islamic education presented in educational policy 1998.
vi. Write two reasons to establish Allama Igbal Open University. :
vii. What was the effect of Ali Garh Movement on the character building of the students
viii. What suggestions was given about uniform in National educational policy 1979.

ix. Write the names of educational institutions that established as a result of Deg-Band movment.

x. What suggestions were given for special children and educational policy 1979.
xi. What is meant by Rural workshop school.
xii. Write namef of two scholars related to Deo-Band movement.
4 - Write short answers of any nine parts from the following. 2x8=16
i. What two reasons about lack of education in women.
ii. Write two points about physical facilities of educational institutions of Pakistan.
iii. What is the relationship of low enroliment and Drop-out rate in schools.
iv. Write down the impacts due to the lack of discipline among students.
v. Why investment in education is considered important, write two points.
vi. Why rural education development is necessary, explain it.
vii. Which institution are conducting examinations in Pakistan.
viii. Write two responsibilities of Technical Education Board.
ix. What is the roll of University of Education for teachers training.
x. Which private organizations are working for the professional development.
xi. Write two functions of provincial Bureau of curriculum.
xii. Describe two important functions of Text Book Board.
xiii. What is meant by the qualitative aspect of standard of education,
explain it by example.

Section -2

Note: Answer any three questions from the following. 10x3=30

5- Write a note on the instructions for students and curriculum given by Allama Zarnoji. o wans

6- Describe detailed evaluation. What were the distinguished characteristics has
of Deo-Band Movement.

7- What are the general objectives of all educational policies in Pakistan. Write down. s

8- Write in detail the suggestions for decrease in school drop-out rate. 10Kk

9- Write five points about the functions of Quaid-e-Azam academy 19 udarks
for educational development.

(;&r)fﬂk

80~

il

g.:-&l.ﬂj‘.'yﬁinL;TQJJ(
Lo Ao u;;.
._,_’/f(_ fj":‘! =5 AP

(o "—bt V H
?__;,[_»y';p"-,l",: b’;—_uulv\‘( "

BT Al U

r-’]’-r'vﬂlf;i’(.-;-’ E ol

J/Vk—U'!L,f"fr:}f.:u__/v-mdrw,:

¥

oif

oo

~—.'.‘l: flu"/u";-’d"‘:r f}de-,-l-‘-'ﬁ!';v-’.
L o So@ir s,

Y- (o e, e
Sl EV V- SRy g

L R S S W T

B AEL s

q..Lf.f u-_,...;,_.rL:... - v ‘/_, r'; e

er
e

"J-J")’iﬂ_'lw? f;""fufﬁ,’g [P /',,’;- £

Loz /L,J?LJT:_.JI

-,_,L-Jl_a,;ur‘) _,_-fdﬁ’"a
S

‘.‘_., _;'/t_,:_';r,su_'_._,

-“J'I/ U’ua/._,ru ....,.fd_,ll‘" L1998 5= ;,_,":‘.

L;./.:(f.:rk:?JJd’y;u»({u:,;‘u.u‘f;v

Fooa

9

e.‘fr:ﬁw,u

Lo L g aereE L s

P T AR I At T B
M e S e Pl e P L

O e g SA9TO G il

Wi i b g L7
Fq_,y:-—_ur’fwxq«.
Efr'.'f’_’.rﬁu_'f_"'!‘.k{':_—;/:
d,_.,,w: ﬂﬁ,uzrﬁb&'

LAkt

Ui Fe ('.-:/'.:LJX’U'?JJ. il "'..C;.a: oL

el

‘.‘_g..lf_ ,-.:f LY

c.: Y ian Fart st 3
;L_/-—f/-o ..'/ .-'_,‘_,‘.mlf
- A=
.:-Ii?ua.\,. \?J.—v‘i'p/ {.. AU

s w’—’! -_; v‘u,"_,x. J- ($13]

;o ST e B
e fof S L E L e tF G

H
oz - ¥
WELY SIw I AN A

P Se, inb sy a =l
*.‘_;,l_-;(! Ko d fam A i

kel opt G - L7
SIS U ek S

- g
v .-".gfaf:.-.lﬁ [EREICETIN I8 1% o

G SN g e

[ (S [N B [P
Azl SOt ol AL

r}:‘»"

WOIY O I

(T

I f srlcved e 37

é.é.-u’ JV- ,..l-x' 4% (_.u 03 alle

l"‘“‘r"" w—"'b’p— ,yu;

o ///L,“ kﬂ.\-v{rj.r._.u.r"'u L—',\,‘Lf

U ‘-.:-/.!fLJ-—A-Jw LA as

o /,:j;;_—,i-'sjlj,;:_ J}u’fﬂi_ r,cv:_é-"!‘ﬁ‘i_f:'

Board:

Paper setter:

Rawalpindi
Asma Shahzadi
0332 0977373

o ol
Faking =10y ’!‘{ s

Vi

wii

i

xi

i

Al

il

i
wii

wiil

i
il

i

A




3

AU
Subject: Tarjama-Tul-Quran-ul-Majeed Session 2022-24

Total No 50 Paper Il

10x1=10 & il ,
GRS Sy

D€ B A Loy () APWE  (F) R (1) Lis “3
ey FEA

Ay (M) e (F) B (1) e ()
< F¥f  r

S e ) b £ 0
espe §C

LI GO T B () ok () Bk ()
e e UK Lo

7 o WY AT S o W VR (O R - N O
S el

e (1”)}"!'5.9’ {F) sl \Zﬁ Ul';_{u_iiam n
e e

10 () 20 (r) 8 (N 100 ()
< SESWI e A

g B () G () (r),éﬁiim (o
Y 318 VT R

i Mgt (M) s () wE O
_GgELdE e

Ve ™ ® dey (0 720

(@%4.7) (9342
5x2=10 A2 fe L 2 i b " 241y

G bl e T s - ¥
e 3 SB S Ly S Ay -r Se QYU E st S

J  »1= 1r I -
-ufv.,,bl d/’l;w.tg:...;s; = ?J_/_fff,f‘fdxffu 139 -

SR Sl gf Uy SRSy o
IS S Gl Sy 2

o \_ng U i ;,f.-,;,t” 2 e A




ox1=05 -u.:‘%‘”&sul@r;g&a,g; 3,41y
j i- (l\:’, %;-‘A-)\UU) )La g.”/ qu:l:’);(ij

F4 z . .. GLas . A o e
V2 332N wviny Gz 5LV U:::/:; LVi) © o33 (W

30x5=15 Q’/ﬁ?u:lfl,ﬁ?ld;éf 4/..:1);,,
do’)}\ \ 2007 5 1 X NSNS S BT
)L:. - -~ A > q—i . : ﬁ)
\fﬁ’j‘ﬁﬁf‘u{-‘” ke Iz 3381050500
G s SN R e S g

'\T‘-i:-;f,_-"/— Q,Jn,,muy,w-.{, ok \.,.f P_/‘

u;; _\\("yv—“&:’b LL.,,,,__HC,J;: \&J;Lj';‘__,'j_

,?\
13 *@
=t 1\t)
w

b
N
W\ p‘}\’

10 . H)IJJ(C-L;J)JJM 5/:‘.Ulr

e c;:w;j.»y,-,l._;.aw Kos U158 N

G e

Yol AN LIEG A 35 8E

N SN JLTL,WéEUJGJ/ :" d)‘i}’iﬂb’f;}’"y -r
b it e w
/M’] b/ 0% »..a)rJhUPGCQ/K/Ji) -

J!ﬁzféfuimgui"‘;%ﬁ(ulj _o

e Ao Y
e A BsBGC b A1 e
Qnu/ /J’ 5 SidsUHSS j"ﬁ&frfSSSulé:bLédjﬁ'ﬁ/ A

(/ﬁ'// /[’/ ),.//{:’*-——-f,/ U\wuma/:GCCQi,);,,f/ 9

L/’ 4 WILGCHE  _ie

W/ é&/d*éé/ / JNL»"J“’LULJGCC ﬂ-,f-juw’ lf -

o




=F

E IPaper Code

!

Number:

(&) (Y uf)N-o

2024

Il

i
S

TIME ALLOWE! 30 Minutes

= 30 =

=

-

SOCIOLOGY PAPER-I

e 34

e

OBJECTIVE (/%>

MAXIMUM MARKS: 20

20 = AF

Q.No.1 You have four choices for each objective type

_I'nu"’m,.[zu&;:c.‘m!i_ﬂ Jok b L;zfu:flmj Jr_*._'_:f

Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

<& [ by SISO L i zne o P b L g ) QRYR - F &3 D 41 C B A 2zl Ly A Ay

question as A, B, C and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet.

D Cc B A Questions / = Uiy Sr.No.
Arabs British Dravidians Aryans The founder of caste system in subcontinent 1
-y 2 A Il widl was: -é}..}g::fL-;".-.-:.:,?:,JjJ:,é'l:
Baber Sher Shah Sori Mehmood lbrahim Lodhi | G.T road was constructed by 2
£4 Sl Z Ghaznvi R -\,; f,-,':':;; sud-4
rld
Society Bradari Sub-group Nation Politically sovereign society is called: 3
-__f‘b» Sarle :J/'T_,:_i .'; -=F Lf_';_,j r;:»’::',;,r'".;"L_,-
All these Pen Book Car are examples of material culture. 4
Ve & =y & _EAESE
Faisalabad Lahore Rawalpindi Multan The largest city of the Punjab is: 5
:gl',"‘-; il Shdsl o[ -a:_,f':::...,-/{..,.i.:},
Education Language Wealth Religion The base of ideology of Pakistan is: 6
Material culture Sub culture Real culture Ideal culture Culture of any province is called: 7
=B =0 b F =g ST AT
Punjab KPK Balochistan Sindh Heer Ranjha is a folk story of province _____. 8
— 5 ;‘;;;:.,'_1.; gezn P —e g _.-'?L,( - WL Yo
Waris Shah Rehman Baba Sultan Baho Abdul Latif Bhitai [Folk poet of the Pashto language is: g
sl Loz I .,/Ea...i;ijl,«_! _u;f.‘r_.-’;’;;,“,.i;:v
Balochistan KPK Sindh Punjab Gawadar is situated in province 10
BT 17552 i - < Eis o
City Settlement Culture Group Living of people at a place is: 11
o GsELT =g ik ...j_':ml._,T.;._{lJ%J:';J
Industrial Rural Modern Urban Patwari is most important personality in 12
‘s ) e S society: ﬂ‘f_cf;‘?(”-fc...‘.rd’;__}b-@l,’;
Paopulation Subculture Family Bradari ___is consist of husband, wife and children. | 13
JnT =y s Ise Jarlz -q—f;/{u:f‘w'éz- Uy
Economic Religious Political Educational institution punishes the criminals. 14
_,‘A"w 20" Jhk J..J': _:_‘_i.‘;_-l;f-::_,':’/fuf.-'
o~ » 2023 AD s » 2022 AD o~ » 2021 AD -+ 2019 AD |The last census was conducted in Pakistan: 15
Lnlr i Lo
Desire for male Bradari Family planning Education __is the cause of overpopulation. 16
child 136z, 7 Sl e 36 g e KO TIA
Overpopulation Industry Employment Wealth __ s an important cause of poverty. 17
SiLThl o Kin ='n *%-?’i’:'d,-l'ﬂ g
Ignorance Development Awareness Employment  |llliteracy creates: 18
= 37 2 s ceFrilndt
Religious Political Informal Formal Decisions made by panchayat are: 19
Sl s S S e
Peshawar Karachi Multan Lahore is called a city of Sainls. 20
a2 g o Y et L L o

4
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NOTE: Write same question number and its part number on answer book, as given in the question paper.

N T A e T T\ L

SECTION- o>

|2.  Attempt any eight parts. 16=2x8 ~E ez lnde 8 20y
(i) |Define culture. -l |G
(i) Write down two achievements of Austrics Y et b’»;_,’::"' (ii)
(1) What was the status of woman in Dravidians culture? ‘L;‘.a”a!'e’- S AZE S hn {iii)
(iv) What is meant by Race? Cesi e S | (iv)
(v) Which family system was found in Aryans? ?vLL & "wvw.}'.ﬂb )
(vi) Write down two impacts of British culture on the Pakistani culture ...:‘__':5,5“.:. }1,-;4 .fd f S0P, 2 A (vi)
(vil) | What was the status of woman in Islamic culture? Tl G e._ufvnf_-.sw {vii)
(viii) | How did the caste system originate? ?Sr'éffu.'.):’&)a_\:-';_‘-u (viii)
(ix) |Why Harappa city is famous? 09,5;’ r,;}‘:__‘ (ix)
(x) What is meant by ideology? s’q_,,lfg}_:}" (x)
(x1) What are the elements of ideology of Pakistan? ?;.g;llﬁaf:go‘gwﬁ:,}' (xi)
(xii) Did two nations theory bring Pakistan into Existence? ‘.‘-f._;-o"EL;'D";:/;L-'.—T»L{ {xii)
3. Attempt any eight parts. 16=2x8 Efezlinde§ 340
(i) Define sulb-culture. -é—“ as QI: (i)
(ii) How many sub-cultures are found in Pakistan? "V_T-:lbj; ;:‘.7,_,‘ )g"r:,'_' L'JJ'; (i)
(iii) Write down the name of capital of Punjab. _._{ f i Ll | (i)
iv) Why does Muitan is called the city of Saints? N :T:- LU T ()
{v) Write down the name of two romantic stories of Punjabi culture. ..-f :’L)J:}J..-Ju .,-L-' (v)
(v1) Write down names of two poets of Punjab. ...;::; !:L';_.ff’m_.f.‘ff (wvi)
(vii) | Write down the names of two Saints of Sindhi culture. -é;j»t[..;ng‘@w’_ﬂaiu’; (vii)
(viii) | Define Jirga. _a_:{.g/’-d-:’ (viii)
(ix) Write down the names of two sea ports of Balochistan -._:ff___g_f::é_,.v: £s *T';:,:.; Eze | (ix)
(x) What 1s meant by density of population? “.:_.:l/t_f’}_d:ﬁ;b;‘" (x)
(xi) What is meant by sex-ratio? ‘-'._-_.vvl_fa.‘./hfy (xi)
(xii) |How do the vested interests affects cultural integration? ‘?,gi,,-'/."t';_‘.’;tﬁ_g._’\}jf.:.-;b:}ii (xii)
4. Attempt any nine parts. 18=2x9 _é}f.pg.mémic_&f 4 )
(i) Define family. S uel (i)
(i) Define joint family. SuAlose S | i)
(i) | Define matriarchal family. -.;,:"._.g_'/"_;;l,‘.-}ui,-..-. (iii)
(iv) |What is meant by democratic family? fe e giibdm? | (iv)
(v)  |What is meant by religion? Seslperi | (V)
(i) How does masjid bring about social integration? e jgﬂf:—:‘rv‘-:.'ﬁi.,ﬂ.’;:a.,f'w»f (vi)
{vii) | What is meant by secondary occupation? ‘aJlfgfizé‘;o:‘F (vii)
(viii) | Define economic institution. -&=lE ;dn"' Sl | (viii)
(ix) Write down two functions of Patwari in rural Punjab. ...:‘_'_::'_.; Basse (52 -,,-u_..mf-) {ix)
(x) Define Poverty. ——-r'f' =/ | X
(xi) | What is meant by overpopulation? el Gy WA | (i)
(xii) | Explain the increasing trend of exogamy. _.{:‘:.QJ:J’.;_JI,’:.;.“';.J:L}J.;S (xii)
(xiil) |How does the lack of teachers in colleges causes the failure of students? -—-L;-’-‘-’,-"U._;t"t.}-"l’ SUak LIE 11 (1)
SECTION-II (2247
NOTE: Attempt any three questions. 30=10x3 ..:{;}’.-...I;L._.urn:adf
5. | Write the salient characteristics of Aryans culture. i :',7;:_,:-7}"‘7._,5_. ,,._..» ol | <8
6. | Describe the characteristics of Balochi culture. -;;ng_-,yw"-_f_-.s:s*.gé -6
7. | Describe the problems of integration in Pakistan. EhLFL L | -7
8. | Write down the functions of economic institution. & 6l e S | -8
9. | Give your suggestions to contral overpopulation in Pakistan. _é:;_u;_f”:_,ilufé_)Js,'f' Gk Th '}'v-‘_;t‘/l: _8
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Q.No.1

MODEL PAPER FOR 2024 and Upcoming Examinations
Intermediate Part Second

ENGLISH ( Objective )
Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Time: 30 Minutes

objective type question paper and leave other circles blank.
Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in

S.# Questions A B C D
1 Some undefeated remnants of the Ottoman Enemies | Opponents Remains Favourite
Army began to obstruct the Allies.
2 | Lister was medical peer of Pasteur. Fellow For Enemy Teacher
3 | Later the holidays were reduced to a fortnight. | One week | Tendays | Two weeks | Midnight
4 | In the past, city streets were full of garbage. Valuables | Rubbish |[Merrymakings Fujr:);nd
5 I(fi:et::euignh;.[ ttsh;togf \X?Sliﬁtffgiﬁqg. from liver Desirable Pleasant Weak Fatal
6 gﬁ?sa has evaded the blind expansion of the Electricity [Development| Contraction Spread
" ”Slgloe Vf(églﬁl'ation is increasing like a gigantic Small Splendid Miniature Big
The manager was a grave, calm man. Bald Rash Serious Idiot
Scores of books were lying there Plenty of Short of Brief of Sale of
10 | A star seldom finds another anywhere. Often Frequently Quickly sometimes
Choose the correct option for the following blanks from the columns A, B, C and D and fill up the bubbles:
S.# Questions A B C D
11 | He was alarmed the news. From By At With
12 | He is suffering Malaria. In With From By
13 | He is partial his friends. With For To At
14 | The thief was charged theft. With For At Through
15 | Can’t you give smoking? On Over Up In

Choose the correct sentence from each of the grouj
She bought two dozens bananas.

She bought two dozen bananas.

B | She buys two dozens bananas.

C | She have bought two dozen bananas.
She bought two dozens banana.

16

18

20

A

D

Either he or his brother were suffering

from fever.

A

Either he or his brothers were
suffering from fever.

B | Either he or his brother shall be
suffering from fever.

C | Either he or his brother suffers from

fever.

Either he or his brother was
suffering from fever.

The night is too cold.

The night is very cold.

The night is too much cold.

The night is too many cold.

~lell--1Fg

The night is much cold.

ps and fill up the bubbles:

17 | He is senior than me.
A | He is senior than I.
B | He is more senior to me.
C | He is senior than mine.
D | He is senior to me.

19 | He is M. A in English.
A | He is a M. A in English.

B | He is an M. A in English.

C | He is the M.A in English.

He is an M. A in the English.




MODEL PAPER FOR 2024 and Upcoming Examinations
Intermediate Part Second

ENGLISH ( Subjective )
Time: 02:30 Hours Marks: 80

SECTION — 1

2. Write short answers (in 3-5 lines) to any SIX questions from Book-II: (Modern Prose and Heroes-Part-I) 12
(1)  Why is the universe, of which our earth is a part, so frightening? Give a good number of reasons.
(i1) Differentiate between our outlook or attitude and that of our forefathers.
(iii)) How does financial pressure lead to the failure of students described in “Why Boys Fail in College”?
(iv) What were David Daiches’ feelings on a Thursday morning? Do you have the same feelings on
Thursday?
(v)  Why could J. C Squire (the author) not burn his unwanted books?
(vi) Explain in title of the essay, “The Man Who Was a Hospital”.
(vii) How does China rely on her own resources?
(viii) How can we improve the living standards of the poor countries?
(ix) Write any three impacts of population explosion on environment.

3. Write short answers (in 3-5 lines) to any SIX questions from Book-II: (Modern Prose and Heroes-Part-11) 12
(1)  Why did Churchill not like the examination?
(i1) How did Christopher manage to get a seat on the weapons’ carrier?
(i11)) What sort of water did Christopher and party get from the camel’s stomach and with what result?
(iv) Why couldn’t penicillin have been discovered in the research laboratories of America?
(v) Do you think that penicillin is better that the chemical antiseptics? Why?
(vi) What part is played by the white blood cells in the blood of a human body?
(vil) Why was Pasteur called a patriot (lover of one’s country) more than a scientist?
(viii) Describe any three reforms introduced by Mustafa kamal.

4. Write short answers (in 3-5 lines) to any EIGHT questions from the novel, “Good-Bye Mr. Chips”. 16
(1)  Which school did Chips join first and how long did he serve there?
(i1) Why did Dr. Merivale say that Chips would die a natural death?
(i11)) What kind of books did Mr. Chips have in his room?
(iv) Did Chips’ views about the modern women change after meeting with Katherine?
(v)  What was Katherine’s opinion about Chip’s profession?
(vi) How did Katherine help Chips in the matter of discipline?
(vil) Why did Mr. Chips want to write a book?
(viii) Why was Ralston unpopular in your opinion?
(ix) Why did Ralston want Chips to retire? Was he unfair in his demand?
(x) Who was John Rivers and why did he favour Chips?
(xi) Estimate Chip’s love for the Brookfield school.
(xi1) Write a note on the death of Mr. Chips.

SECTION —1II
5. Write an essay (300-400 words) on any ONE of the following topics: 15
(1) My Favourite Hero (ii) Blessings of Science (iii) Co-education (iv) Mobile Phone
6. Use any FIVE of the following idioms / phrases / verbs in sentences of your own: 10
(1) build castles in the air  (ii) good for nothing  (iii) keep an eye on (iv) an open book
(v) famous for (vi) laugh at (vii) in short (viii) a busy bee
7. Translate the following passage into English: 15

/)!UJ{U;«LJ):."",CT,: ‘ujz_//{/aﬁg;f}”d ‘.u,?z_l:ubéfﬂnufl’d ‘4‘“.»)&)&;(:4&!(}/&1)&3&/»5@7
J}'Uébfd/_ﬁalﬁ? ~u32_(w2/djjjd/ufj ‘.ujiuc;ggz-lffd/, ‘,uj&%(f/g ‘.ujiu/u;}f:
-ujﬁ;//b!/b/ﬂiuﬁ

NOTE: English Medium / Foreign candidates will write a paragraph (150-200 words) on “ A Rainy Day ”.

The paper setters of all the boards have unanimously approved the model paper.



MODEL PAPER (CIVICS) INTER (PART-Il)
(BISE BWP) SESSION (2023-2025) AND ONWARD

G SUBJECTIVE rrsereeereserend
| 80 = i;—:—:z:so:;i:

_.;_.;,f;ur./ }...,U.r"/"ﬁ..»fil{og):_gfc_u"-l/u'f,f? L8 - 8)E Jwra il 34 vt 24 B é = }

_.LL,J-/..J /.J L] f/ o3y ‘/1.’ 2l / Iy (Frs _ébfulr ..&.J»..« Jlru-:_c,ilr‘;.u"i ¥ .-0.;’

Note : 1t is compulsory to attempt (8 -8) parts each from Q.No.2 and 3 while attempt any (09 ) parts from Q.No.4 and attempt

any (03) questions from PartIl. Write same Question No.and its Part No. as given in the question paper.

T’ e e
50=2x25 {Partl)us!.ﬂ?:]

| Define Ideology. . i‘.ﬂ-/‘b-/p (i)
iWhal is meant by Separat Electorate? ‘e s e o Fisbie (i)

: Khalafat Movement remained successful or failed. -f FtLre e L7 (i)

| Who were Moplas? Tid/%"‘ (iv)

: Who was first President and Secretary of all India Muslim League? T, ':'/JJ';.;';MA"_"_ LJ}".}J‘- 7 (v)

| What Pandit Nehru said about Pakistan Resolution? % ".-" P Lt SUVY i Lsde e (vi)

1

I 4-[’&_ T U"m_.,_, Q::}L\Jé (vii)

Wnte down the names of two Muslim Judges of Bengal Boundary Commission.

: Which two Parties signed Lucknow Pact? "4_rh3”;/r’“vv._)y,:r_u::;l.:.l‘_, (wiii)
:What do you know about Ali Brothers? Y "'(__wl/.... IJOJ('_L,IL)L{J (ix)
! What is meant by Dual System? ‘c‘_Jfl_.:r_.(,V (x)
1 Under Which Act Bihar and Sindh were made Provinces? Y i n JL{{:‘;L a{u‘/ (xi)
: What do you know aboul Chora Chori incident ? "g‘r_wu’._«nﬁg/L 2.:.’...!12:. Szl (xii)

: w.;._:‘,,mu,ﬁ e .,,/._.—(_.J 21962 (i)

: Which Institution elected the President of Pakistan under the 1962 Constitution?

: Who controls the Session of National Assembly? c.’-‘/_.' ," 'u..'.bf(_.u *j’ {ii}
: Which two were the National Languages under 1956 Constitution? .,:’.i.,._ ug y'J-J:':.-fc_.J 21956 (iii)
! Define Muslim according to the Constitution of 1973, s v Al J’Wu,lbw_g-}_' L1973 (iv)
! How President can be dismissed from his office? fe ttg‘u_r'..i,)xéc.r..,g!f;ﬂ (v)
: What is meant by Ordinance? .ﬂ/b";u 3T {vi)
E In which Constitution of Pakistan there was unicameral legislature? "Uulfl..f...s/‘h/.:-'*.a. ,_,’-'u' 'u L,'JL {vii)
Wnte the names of Khairi Brothers. _;,':'f'tcﬁuluu ,:’ {wiii)
i ! Which is the highest Court in a Province? ‘-'(_.&nf;’.-)'xd‘l.:. ./J_gr' (ix)
:\v‘\'hdl is meant by Advisory Powers of Supreme Court? ‘.‘.;J.‘yy}_...—.u;-r'ljueﬂ.&;.ﬁ{/, (x)
: 7% x;;f_ .:u.“- ._—,("‘l(l L J‘."c’ ;/’l J/I/E’I:f;: {xi)

:Whal will happen if 'rime Minister loses his majority in National Assembly?

: ?u\,-?,;<:.U{th'zc:u;';d:utﬁ'du)}"d:g (xif)

5“’]!“1 and Who Presented the first report of Committee of Basic Principles ?

: What is meant by Physical Education? S":;.J[/l_,_-";_-f‘*;&b—i (i)
| Which Education Stage is Starled after higher Secondary? E'a_;&ﬂ&s,}fy\iufd{'.\ﬁbd" (ii)
: What are demerits of Illiteracy? ?u_.';,ti.-i"l_/cf. sy (i)
! When Principle of Equity is used? E'.c.c@yrufv;lg?’;)wdr"' (iv)
:Wh_\' Protocol is necessary? e s r,"u;‘/dx"fu (v)
: What is meant by Fuedal System? ‘@ !_/VG—['-E’\,A!P"‘.;? (vi)
: How can Provincialism be eradicated in Pakistan? "{.’_J .f.a( (et Uwi (vii)
: What is the Prime task of U.N? |...qu L .o“‘ # (wiii)
: What is basic duty of Trusteeship Council? l.-..vi"u Lfﬂ_)'}ufr {ix)
! When India attacked on Balakot? ‘.g’.l—’.gf{..: W Lx (x)
! Which is neighbouring countries in the North and East of Pakistan? ?.,ELM.J_ A3 le.uL”fL (xi)
'+ What is Indus Basin Treaty? .:_ Uup' Sz (xii)
: When did Resolution I"ass by Security Council on Kashmlr issue? "'Jr 'L._f"dj L)'?L,.ff. ""H..r/ (xiii)
i e

1(30=10x3) C(Part ) fo=

' (10) LA A P g T VY XN 13 P

: Analyze how Sir Sved introduced with modern education to the Muslims of the Sub Continent in the 19th

! Century?

i (10) e bl e Gt s T€1973 g
: Does the 1973 Constitution meet Modern Democratic Requirements?

1 (10) —rzem Sl A S e B

: Suggest such measures so that tragedy like East Pakistan does nol happen again? __

' (10) e bl sy & U B R LY

: Does the current education system of Pakistan meet the modern requirements?

: (10) Write about Pakistan-China relations. -u_‘cQC.r._A_.c':.:. ST B

1

i

L

2/ |
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MODEL PAPER (CIVICS) INTER (PART-Il)  paper Cade 8177 |

(BISE BWP) SESSION (2023-2025) AND ONWARD T '
OBJECTIVE
{20 e | & fer20 it
lecesscssntosnsses . @  leesssseena. —
i e AL st Ay Jig B 1362 S e W2 L L D,C B Az by Lyt e é
1 -fx.r:"“ﬂvlﬁuij S S LK\ S st Ly :/'-":f'ji_.-d’ﬁ,
: Note : Four possible choices A, B, C,D to each question are given. Which choice is correct, fill that circle in front of that question :
1 number on the Objective Bubble Sheet.Use marker or pento fill the circles. Cutting or filling two or more circles 1
1 will_result in zero mark in that guestion. 1
ViSO e E e —mirbomriind A A l:
In which Act the Post of Minister of Indian Affairs was first introduced in the Subcontinent : 1) :
(A) 1858 (B) 1861  (C) 1892 (D) 1909 :
When Partition of Indian Plan was announced : ; [P 1 Ll‘l%’ut?!k (2) :
- i (A) 3 ]ur_u?. L,f 3 (ll) 23 ]unc . o2 .1 (C‘) 23 l\‘[an‘h .';{ 2.? . (D) 141\:39%1 "_fl 14 N E
When did Sir byed Ahmad khan establish his first Educational institution : : I‘ ..n.r':f C’W_?-’b// (3) :
(A) 1838 (B) 1859  (C) 1863 (D) 1875 . :
When was_lxhalafat‘\ vement S rterl . (.-\) 1917 _(B) 1918 (() 1919 (l)} 1920 ‘lrt..n.le’ u"";_..._.._{.‘il ) E
When Shimla Deputationmet with Viceroy el -..;—u-s..-‘” (5) :
(A) 1905 (B) 1906 (O 1907 (D) 1908 1
Who was Second Govemor General of Pakistan ; BRSPS B () ;
(A) Quaid-e-Azam /”UF (B) Sikandar Mirza |,,/,,.,.¢ (O ‘Ghulam Muhammad }(w (I)) Ayub Khan \Jv..-.l‘" ]
: Which is called Magna Carta in the history of Pakistan : : .:.'_{"\ylg-fu’ M’r).‘.,- C E“J’Jf‘f (7) ]
: (A) Lahore Resolution sl s} (B) Objective Resolution G- S} 3
j (C) Bogra l"nrmula ey, (l)) Basic Principles Committee .,,"G,,:J:‘!Jt._[»w - o
:'Nhl(h 1~.theT’r1me dutyof Parliament : : :_vr’(-‘"':.. .,/S’..-‘{,L (8) :
(A) Justice i (B) Emforcement of Law jwEy 56 ((.) Pumshlnu.r}lt“'{,:mw“(”;’ !aw Makmg szuh ) :
To which Province Sheikh Mujib-ur- Rehman belonged : : J«:....r‘g_,/yﬂ_f,/ —f :
_ (A) NWFP m/;,fdl- o (B) ‘Bangal JL - (C) ~ Balochistan u.ﬁ)‘ (DJ Sindh ss- = 3‘:
: W'}u n dld Om' [ [‘Ill came mln hetng ! (A) 1945 (B) 19'53 (L) 1'4(75 (D) 1970 - ’r../".rhf../fu: (10) :
Who was third Prime Minister of l’aklst-.m : iu}?’"‘{n%b’uw 4 (11) i
(A)  KhNazim-ud-Din  g4/ts#  (B) ChMuhammad Ali (463 : :
: (l_) ‘Muhmnmald Ali Bu;,ra u).’l’a'} (D) Zulfigar Ali Bhutto r"uu.‘w'n 1
: Which lype of Education is given in Law Colleges : : G_waf"’d;_,w.u}h’y
;: (A)  Commercial Education [‘-'.‘;3»’ (B)  Agricultural Education (UJ;;
; (C) Legal Education i (D) Medical Education f"'f..,&
' What is average ln’e in Pak:stan : . q_d'/‘”,ILﬂw
‘o (A) 63 Years (B) 65,5 Years (C) 67 Years (D) 70 Years
Wha is the IHead of Crime Branch : - e +rxuﬂJ4/K£ L:/’"f (14) :
(A) Serlelarv U”C (B) ’ (‘ J J' ‘:(‘} Dt‘puty Commissioner fj{,p (l)) DLG (- "_J; i
Wh;ch System is deep and slrnng mntud in Pakistan : 1,; 4"6/\./7\!(\5’0/ UL;L (]5) :
s (A) (Jabs System (Lﬁduﬁ (B) }ued.lhsm dﬂ:fi' (© F]l‘(lﬂl‘d]q'}‘\lt m rllidﬂ“' (U) l:ducatlon bybtem ‘LE:JJ" :
| When Agm Conference was held between India and l’al;;lbtan : dn..f ’:} g .}J‘IUL/,: L._,,y,ﬂuw o (]6) ..... :
TG (A) 1999 (B) 2000 (C) 2001 (n) 2003 :
What is the total numher nf members of Fconomic and Social Council - ot ub’icfsi J’; J/w:o’r ...... (1 7) “ }
B (A) 34 B &4 (© 54 (D) 64 i
.Ihemm ]mgth “f -~ “ghan . P Pt ,ludfﬁ’mu‘,,_& “3}
i  (A) 2252Km. (B) 2262Km  (C) 2272 Km (D) 2282 Km : _
E Whl(‘h one is the bl;,;,ust organ of UNO : - . ‘ B c..r..'rul:ilx;....-fb’rfr'lr'l (19] |
: (A)  Security Council d'/d: (B) General Assembly -Jfﬂ._,l,?. :
e (O Trusteeship Council SIS (D) Secretariat 2/ —
: When was O.1.C first meem\g was held : e J e .Pb’ )F’JLH (ZU] :
L W) a9 @) 1 (© wm (D)1 :
1 '
1 ]
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Note: You have four choices for cach objective type question as A,B,C and D. The choice which you think is

correct; fill that circle in front of that question number in your answer book. Use marker or pen to fill the circles.

Cutting or filling up two or more circles will result no mark.

SECTION-A i.»

{For Girls) How far is the goal post from the goal post in

netball?

D C B A QUESTIONS Q-1
e S5 | e ~ e Fortl Sigsrdiand
. Economy Efficiency Public Relabon Education What causes soclal improvement in sport? I
Surd7 Fois Fg Sk e depomdsin i , |
tare eating Breaking the Quarrs| Puncluality What makes a good player? |
Law
o 0 : "y . y L 2% 5.
2kl = AL <2l e pICLLEN S 2| 4
1 Munite 2 Munites 3 Munits 4 Munites What is the ime limit for the javelin throw?
=l & y of etrfaurde| 4 |
f 7 s 4 3 How many parts does a javelin consist of?
23785 S 70 dl4s 90 ?.1..556{ GW &:Lfl.,/.d{ 5
85 cm 70 cm 45 cm 90 cm How high is the high jump Landing Area?
&0 PR 26 PR S L3ratShie AU SpISur LA g
10 em 8c¢m € cm 4 cm How high should high Uprights be at least above the
crossbar?
1916 1908 1920 1912 LSBT 2400)  5
L1916 . 1808 1820 L1912 When was the 400meters race included in the Olympic
Games?
S vy Sl Jis ¢ QLA srliie bl i 40| o
Food Training Starting Blocks Exercise What is considered essential at the start of 2 400m race?
8075 15210 | 950,30 45,40 v.;,e,.-ﬂ.-,m_s,q,u,!é sr’?:uz':.,,-ég,»u.{r 9
7510 80 % 10015 % 30 to 50 % 4010 45 % What percentage of the total body of a typical adult male |
consists of voluntary muscle? |
. - L. ¢ A Ri ' ¢ B
Sl le sl St il tereJdo b (Rickets )b 2¥uts| 10 |
Vitamin D Vitamin C Vitamin B Vitamin A Rickets is caused by the lack of which vitamin?
32 ;-:;22 .4.512 4»202 "d..&‘}blﬂﬁ:—wff 11
2% 22 % 12 % 02 % How much Carbohydrate is In Cocoa?
JE i"A-.'l ¢ ;_jJL‘ U’ Lﬁt)‘ ?{v ‘-Z{-bn’é—.ﬁgwﬂb ,';‘f. 12
Barbituralas Morplua Smooking Arsenic What drug causes lung cancer?
SHiE 078 SWE RRifL ‘e 43
HEC HIV HIC HIB What is the name of the AIDS virus?
S IS ¢ Qe 5§ < e bptbe i L AL AL A St g
SOS CBA ABC ABD What is the most important first aid method known as? |
-4 e =SS = W TUEE.-M({_IJ.-W&:-J: 15 !
Cardac Muscles | Dermal Muscles Involuntary Voluntary Muscle | What are the muscles of the hear calledl
Muscles
15 210 28 18 te3nd Qe ANl UEN| 46
1&m 10m 28 m 18 m (For Boys) How long is a basketball court?
i 3 '3_ g ._'.;/ < t‘[.clfz,}il}z.‘;h'w;sk (c’g’,’ff ) 17
Astro Turf Wooden Mud Concrete {(For Boys) On what type of ground i the game of hockey
played?
6.10 #5.10 #4.10 23.10 te S Sl L BB A i AN 1)| 4
6,10 m §510m 410m 3.90m {For Girls) What is the length of lhe combined singles and
doubles courts in Badmunton?
& 18 s Hs _1314-5{314‘4f{uﬁi;zd:w{:gﬂgﬁd(awau) 17
Let Rally Server Receiver Yé.bnf

2
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Time: 02:40 Hours

Marks: 68

Answer briefly any Eight parts from the followings:
How does leadership training help in sports?
Describe four attributes of a good athlate,
Explain physical gevelopment in sports.

Subjective de

How does a good athlete demonslrale independence?
(Only For Boys)

When 1s a goal awarded in a hockey game?

What is meant by time wasting in a hockey game?

When s the penalty comer action completed In hockey?

When is a goal awarded in a hockey game?
Define "Backboards" in Basketball,

Describe the semicircle in basketball.
Define the Basket Ring In Basketball,

Writa down the “Jumpball" tachniqua in basketball.
{Only For Girls)
Describe Badminton Court Shorl Service Gallery,

wWiite two servica fouls in badminton,

Writa the length and breadth of a double court in Badminton.
Make a comparission Single and Double play in Badminton.

What 15 meant by "Rally” in Table Tennis?
write down two duties of Assistant Umpire,
Explain "Let” in Table Tennis.

Write down the measurement of table in Table Tennis.

Answor briefly any Eight parts from the followings:

How turns determined for players trail in Javelin throw.

Explain the "Landing Area" in Jevelin throw.
Describe the structure of Jevelin,
Gine two examples of fouls in jevelin throw.
Explain the Portable landing area in High jump,
Descnbe four Rules of High Jump,
Explain the Runway in High jump,
Write a short note on Uprights in high jump.
Why 400 m called toughest race?
Why Staggers are given in 400 m rece?
From which position the 400 meter starl starts?
Explain the Fimishing of 400 m race,

Answer briefly any Elght parts from the followings:
Explain Small Intastine,
What is meant by Voluntary Muscles,
Write down four benefits of muscles.

Describe the importance of Protein’s nutrition value.

Descnbe four benefits of Vitamin.
Write down the ingredents of Tea.
Wnte a short note on Morphia,
Explain about the Chancroid,
Explain anificial respiration shorty,

Note: Attempt any three questions,

Descnibe in delail the benefits of sports in present area.

Descrbe the fouls of Jevelin in detail,

Write the function fo orgens who participate in Digestive system,

Part-l..............

‘What is meant by First Aid? Describe the methods of First Aid in detail,

Write a note of the following, 1,24 Second Rule 2, Field Goal OR
Draw a sketch of Badminton Court with its Dimentions.

o

Z02:40 1
68 A
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Time: 15 Minutes
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Note: You have four choices for cach objective type question as A.B,C and D. The choice which you think is

correct; fill that circle in front of that question number in your answer book. Use marker orpento fill the circles.

Cutting or filling up two or more circles will result no mark.

SECTION-A i.»

Sr# Questions/ = i+ A B _ c D
&‘MJ/ s....._u»w L g)b':uk =/ d‘ FIIT LUy a/(:,'d‘j |
1. | Who was the first Prime Minister of Pakistan: | LiagatAli Khan | Ch. Muhammad Ali Feroz Khan Muhammad Ali
' Noon Bogra
5 Sn Bimisn) J=:1930 21940 ~-1945 J~+1950
’ _ Lahore Resolution was presented in : 1930 1940 1945 1950
3 -.:‘..t‘fsllr'f..'/?;jér S A fs’l{b i u;".;h |
" Whoisthe Head of Federal Govt? President Prime Minister Governor Chief Minister
’ WY T 1973 J=11 =12 7213 J=/14
~ The constitution of 1973 was implemented: On 11" August On 12* August On 13" August | On 14t August
5 ASSHILS L T 1? F 1: uméﬁ 120&3
" Howmany members of Kashmir Council? me poRes e R
b :_,.. r)f\,aws'gl—*ﬁ df/;._.y.‘, If‘ﬂlx_h i J'_JJ;J.-
6. | Whois the Chairman of Gilgit Baltistan Chief Secretary ‘ Prime Minister Governor Chief Minister
Council? '
B G OP SO i i . ;
/. UNO passed the human rights declaration 1946 1947 ' 1948 1949
cin - N
. ekt | g Joat Ju a7 Josd
" Duration of Elementary Education: Six Years Seven Years Eight Years Nine Years
REVPIORS AV AN ITIP: ST g J5d I
9. | The Institution is responsible for Cricket at ICC PCB ICB PFF
| International level: |
i —e u._,'Ls-/ Iy ‘ el A0 msnll ._,’:..'rxi‘l_w ‘
Maspd Warzir Khan is situated: In Multan In Lahore

In Peshawar

In Sialkot
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Subjective Jlﬁl

Time: 1:45 Hours 145 1y
Marks: 40 40

- - l/
-Zerell ey ng N eilfpoiis
Note: Section-B is compulsory. Attempt any two questions from Section-C

SECTION-B (99

2. Write Short answers to any SIX parts (6x2=12)

Prescribe the meaning of Ideology.

—ulu-’

e CL F

What is meant by modernism?

iii.  Whatis the relationship between Islam and Co-existence?

iv. Write any two causes of separation of East Pakistan.
v. Whois called Federal Minister?

vi. Whatis meant by Sovereignty of Allah Almighty?

vii. What is the duties of council of common interest?

viii. Describe the difference between municipal ad municipal
corporation.
ix. Which duties chief officer performs.

3. Write Short answers to any SIX parts

Prescribe any two Economic rights.
Which is the Women's rights in Islam.
iil.  When was human right commission formed?
iv. Whatis the concept of Education?
v. Write the names of modes of Education.
vi. Prescribed two challenges to education in Pakistan,
vii. Whatis the present status of Hockey in Pakistan?
viil. Write two problems faced by tourism in Pakistan

ix. Whatis the treatment of Dengue Fever?
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(6x2=12)

23—

g{/j...;li/" &mgc_é:f 2

vi.

vil.

viil,
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SECTION-C EACH QUESTION CARRIES 08 MARKS

B

Write basic principles of Islamic Welfare State.
5 Describe the administrative structure of Gilgit Baltistan.

6  How to promote tourism in Pakistan? Discuss in detail.

_(_,:_fl‘._',-'l-.‘. _,lr"'L,{)l_-J: r_(--:..fl‘ ;‘U’U; .',(JJ-'"
-u.'f/or‘-::%‘di:‘lb’;.'ﬂ:ﬁ'"
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vii.

viil.
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Note: You have four choices for each objective type question as A,B,C and D. The choice which you think is

correet; fill that circle in front of that question number in your answer book. Use marker or pen to fill the circles.

Cutting or filling up two or more circles will result no mark.

SECTION-A ()il »

2>

Questions/ = Ui+ A B C D
o IT xS G J5+1930 21937 2.1940 1942
Allama lgbal delivered his famous Allahabad In 1930 In 1937 In 1940 In 1942
address in:
-:--'!-'.»"Eg;’;.,:?.ﬁ..-.{- J%+1946 ~-1947 ~-1948 J2:1949
State Bank of Pakistan was established: In1946 In 1947 In 1948 In 1949
-ﬁ'—\f WAL oel] | o oL O 0>
In the north of Pakistan is located. I Iran China Afghanistan Tajikstan
ek amds | 41980 41981 21982 21979
Zakat and Ushr system was enforced in: ; In1980 In 1981 In 1982 In 1979
g E'Ks-'/_‘/{.:‘.f:‘;ji.i! JA” "J"’.'.;Js . Fles
Who is the Head of Federal Govt? President Prime Minister Governor Chief Minister
s ‘;ll:_“')-_g_j._.:.‘; DJ._.’;Q",; .E" - J’Xr \élf- : Jﬁ.:i‘
First translation of Holy Quran was made in: Saraiki Sindhi Punjabi g Kashmiri
i
i ST
_::_C’IJU'LE&L{.QJ prll o sl | Jigrl
Majid Mahabat Khan is situated in: Peshawar Multan Lahore [ Sahiwal
- :l)f.'_'.-fh/__'.;."b’)‘l;' i S Ik dtar
An example of national unity, the state is: Islamic Non Islamic Secular Presidential
RO (T A 2010 2013 42015 42016
Women Protection Act in Punjab was passed In2010 In2013 In2015 In2016
in; |
-Iytis'_ﬁfy'"’_&rég' <~ I J4.1960 J4:1970 ~+1965 S+1975
Third five years plan was launched: In 1960 In1970 In 1965 In1975
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Subjective dui

Time: 145 Hours #1451
Marks: 40 40

-,_é/_/n;:-‘,!:?ic.ulm;fc_,u’:?r .ﬁql.:'_d}U(,u,ﬁ:.:.:;
Note: Section-B is compulsory. Attempt any two questions from Section-C

SECTION-B (».

2. Write Short answers to any SIX parts (6x2=12) ‘é‘;; . wﬁ"’ém,;;.dh
Write any two proposals of Crips Mission. W rias SIEA RS i.

ii.  Write the names of two books of Sir Syed Ahmad Khan. -éffrté_vu?n‘jo'“/'*‘-’ ii.

i, Meqtion two important countries located in the north west of -é{jrti-ﬂ/ﬂ»a’f-‘:uﬁd?e':c,'l‘ﬂ'g iii.
Pakistan,
v, Silk Route is located between which two countries. -d_gls._;-'?u(:-.i:"'f!:d}i‘:z'_c\: iv.
v.  Describe two administration problems which Pakistan faced. . e e S S e V.
vi.  Why did the state of Junagarh not join India? g-?-';b,,i’&g,;.,;_,'l_#;,;-_.,3____,:; vi.
vii.  Write down two duties of citizens. EFPL s VI
viii Write two functions of Majlis-e-Shura --_-'i*’f/ _5___.‘:.)-;;#‘ viii.
ix.  Differentiate Federal Minister with Minister of State. 65/ L 50 i3 iX.
3. Write Short answers to any SIX parts (6x2=12) _éjaglifﬂLAZl{LJKS
What is meant by Indus valley? S A mir il i.

i, Whowas SirJohn Marshal? CE S A L

fi,  State the third period of Kashmiri Language. _E e SEig e il
iv.  Write names of two poets of Balochi language. Al afnlgugs WV
V. Why democracy is essential? ‘-'Ld»x“‘urfrr’b’-:-zm‘f V.
vi. Write down the names of two important exports of Pakistan. _dg,,‘.:_;,*,-‘,l,fmd'; e vi.
vii.  Which type of virus causes “Dengue Fever”. AP s el Soa Vil
viii.  What are the duties of Ministry of Foreign Affairs? S Gt P s ks Vil
ix.  Whatis meant by National Security? S Fdl X
-
LABLIy -y 2
SECTION-C EACH QUESTION CARRIES 08 MARKS
4 Describe the importance of Pakistan with respect to its location Eealth S Lot 8
5 Explain the characteristics which are necessary for a good S ribaler S d Lok g S

governance
6 Describe the significance of Economic Planning. EesiiS i S O




